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Cuesticon Label | Comprehiension



The following table presents the data on the number of vehicles of three different types (A, B
and C) produced by a company during seven different years from 2012 to 2018. Based on the
data in the table, answer the questions 1- 5 :

Year — wise production of three types of vehicles

Vehic
Yﬁar A-Type | B-Type | C - Type
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 30000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000
Sub questions

Question Number : 1 Question Id : 6154757208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The following table presents the data on the number of vehicles of three different tvpes (A. B
and C) produced by a company during seven different vears from 2012 to 2018, Based on the
data 1n the table. answer the guestions 1- 5 :

Year — wise production of three tvpes of vehicles

Vehicle
Year A - Twvpe B - Type C - Type
v
2012 2000 20000 15000
2013 15.000 10000 22500
2014 10.000 15000 30000
2015 17.500 15000 23000
2016 25.000 20.000 15000
2017 13.000 25.000 20000
2018 30.000 35.000 25000

Options:

61547528101, 1
61547528102, 2
61547528102 2
E1547525104. 4

Question Number : 2 Question Id : 6154757209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The number of A — type vehicles produced in the year 2014 was what percent (%) of the
number of C-type vehicles produced in the year 20167

(1) ~ 33.33 % (2) ~66.67%
(3) 50 % 4 15%
Options:

E1547528105. 1
B1547528106. 2
615475258107, 3
61547525108, 4

Question Number : 3 Question Id : 6154757210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In how many years was the production of A — type vehicles less than its average production
over the given years?

(1) 2 2 4
(3) 3 4 1
Options:

6154752581091
615475258110, 2
E1547528111. 3
E1547528112. 4

Question Number : 4 Question Id : 6154757211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What was the average number of B — type vehicles produced by the company over the years?

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

BE1547528112. 1
61547528114, 2
615475258115 3
61547525116 4

Question Number : 5 Question Id : 6154757212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which of the following years was the total production of all the three types of
vehicles 600007

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

615475281171
61547528118, 2
61547525119, 3



BE1547528120. 4

Question Id : 6154757207 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (1to5)
Cesticn Label | Comprehiension

frferfEs arferem 3 99 2012 | 2018 T 919 &9 991 % 209 TRl oA 270 3eaed o  afi= e
(A, B 37 C) ¥F 9=l &1 583 F ATHS! <90 T3 & | et 4 foF 7 AtwSt % oan W fefetaa
vl (1-5) % I ST

T TT o FTEAl T TGN IS

FTEA
T A -TET B -39 C - 3™
2012 5000 20000 15000
2013 15,000 10000 22500
2014 10,000 15000 20000
2015 17,500 15000 23000
2016 25,000 20,000 15000
2017 13,000 25,000 20000
2018 30,000 35,000 25000

Sub questions

Question Number : 1 Question Id : 6154757208 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a9 2016 & 2017 % B 2137  dTEAT o IcA1e § Tohad Aa9rd =i dfg B3 7

1 10% 2) 5%
3) 20% 4) 25%
Options:

61547528101, 1
61547525102 2
615475258102, 3
E1547528104. 4

Question Number : 2 Question Id : 6154757209 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ~ 33.33 % (2) ~66.67%
(3) 50 % 4 15%

Options:



E1547528105.
B1547528106.
51547528107,
61547525108,

[ N N

Question Number : 3 Question Id : 6154757210 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
e = = o
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(1) 2 2) 4
(3) 3 4 1
Options:

B1547528109. 1
61547528110, 2
615475258111, 2
61547525112 4

Question Number : 4 Question Id : 6154757211 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o2 ™ 397 9 = 2 3caried B SET JTEa1 S 37 9Ear 947 ot

(1) 20000 (2) 25000
(3) 15000 (4) 30000
Options:

615475281121
61547525114, 2
E1547528115. 3
BE1547528116. 4

Question Number : 5 Question Id : 6154757212 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fytaraa 3 ¥ 779 99 941 TR o JTE1 6 Fe e 60000 977

(1) 2013 (2) 2014
(3) 2015 (4) 2016
Options:

E1547528117. 1
615475258118, 2
E15475281143. 3
B1547528120. 4



Sub-Section Number: 2
Sub-Section 1d: 615475321
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 6154757213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

By selling 70 pencils for Rs.90/- a person makes a loss of 25%. How many pencils should be

sold for Rs.234 to have a profit of 30%?

(1) 95 (2) 100

(3) 105 (4) 110
Options:
51547528121,
E1547528122.
B1547528125
61547528124

o LI

Question Number : 6 Question Id : 6154757213 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U FEd 70 G w1 90 TR § 59 W 25% B 32T 2 | 30% HATH FAM F o0 234 TR F TR
\.E\ -\1- o :\_ = ?

(1) 95 (2) 100
(3) 105 4 110
Options:

E1547528121. 1
B1547528122. 2
B1547528123. 3
615475258124, 4

Question Number : 7 Question Id : 6154757214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In what ratio must a vendor mix two varieties of sugar worth Rs.60 per kg and Rs.78 per kg
so that by selling the mixture at Rs.76.8 per kg, the vendor gains 20%?

(1) iy (2) 7:2
(3) 5:3 (1) H:2
Options:

615475281251
E1547528126. 2
BE1547528127. 3
BE1547528128. 4

Question Number : 7 Question Id : 6154757214 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 Wrong Marks: 0
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(1) 154 2y T:2
(3) 53 1) 92
Options:

BE1547528125. 1
B1547528126. 2
G1547528127. 3
615475258128, 4

Question Number : 8 Question Id : 6154757215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which given of the following sets of letters when sequentially placed at the zaps in the letter
series below shall complete 1t?

bb b ab chba bebb

(1) achac (2) achbbb
(3) cbhbhba (4) abbbe
Options:

BE1547528129. 1
61547528120, 2
615475258121, 3
615475258132, 4

Question Number : 8 Question Id : 6154757215 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
frferfas 3 o w7 =1 58 #8132 & 59 5= & 7 95w gaen ¥ fEe sue W SEEEn o e 9 9w
bb b ab cbba  bebb

(1) achac (2) achbbb
(3) chbba (4) abbbe
Options:

615475281291
61547528130, 2
E1547528121. 3
BE1547528132. 4

Question Number : 9 Question Id : 6154757216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Qut of a total of 10 students, the average weight of 9 students is 60 kg. If the weight of the
10t student is 9 kg more than the average weight of all the 10 students, then the weight of
the 10t student would be :

(1) 61k (2) 69ke.
(3)  T0ke. 4) Tlks.
Options:

6154752813521
E1547528124. 2
E1547528135. 3
61547528136, 4

Question Number : 9 Question Id : 6154757216 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
et 10 fammie= 8 & 9 faenieen =1 sit|a @== 60 . 2 | 3tz 10 9 faenefi = o= =t 10 faentar=n =
HEE F99 | O BT, e 2, A 109 Tl #1394 =

(1) 61 .. (2) 69 THm.
(3) 70 T . (4) T1tEm.
Options:

B1547528133. 1
61547528124, 2
615475258135 3
61547525136, 4

Question Number : 10 Question Id : 6154757217 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was not a Millennium Development Goal (MDG)?

(1) Eradicate extreme poverty and hunger
(2) Improve maternal health
(3) Ensure healthy lives and promote well being for all at all ages
(4) Ensure environmental sustainability
Options:

61547528137, 1
E1547528138. 2
B1547528139. 3
B1547525140. 4

Question Number : 10 Question Id : 6154757217 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547528137, 1
61547528138, 2
61547528139 2
61547525140 4

Question Number : 11 Question Id : 6154757218 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Choose the person who has control over self, mode of communication and method of delivery
in class room from the following :

(1) Student (2) Teacher
(3) Audience (4) Visitor
Options:

BE1547528141. 1
B1547528142 2
61547525143 3
E1547525144. 4

Question Number : 11 Question Id : 6154757218 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547528141. 1
B1547528142 2
615475258143, 3
61547525144, 4

Question Number : 12 Question Id : 6154757219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Select the period in which India became a centre of higher learning.

(1) Gupta Period (2) Buddha Period
(3) Mughal Period (4) British Period
Options:

615475251451
E154752814E. 2
BE1547528147. 3
615475258148, 4

Question Number : 12 Question Id : 6154757219 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) o =hTe (2) Fg-FA
(3)  HTA A (4) ToT =1
Options:

E15475258145. 1
61547525146, 2
E1547528147. 3
B15475258148. 4

Question Number : 13 Question Id : 6154757220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following groups has the components of paralanguage communication?

(1) Voice, Emphasis and Impression
(2) Social Space, Voice and Impression
(3) Voice, Social Space and Expression

(4) Emphasis, Social Space and Voice

Options:

61547528149, 1
61547528150 2
615475258151, 5
61547528152 4

Question Number : 13 Question Id : 6154757220 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) T, 597 J1 I99
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Options:

61547528149, 1
61547528150 2
E1547528151. 2
61547528152 4

Question Number : 14 Question Id : 6154757221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many National Parks and Wildlife Sancturies were there in India till March 20117

(1) 8 and 421 only (2) 10 and 75 only
(3) 75 and 421 only (4) 102 and 515 only
Options:

E1547528153. 1
B1547528154. 2
61547528155 3
61547525156, 4

Question Number : 14 Question Id : 6154757221 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Wi | 919 2011 T Fhad TP S8H 3R 97 919 A¥IR0T 47

(1) =Fas 8 3N 421 (2) Had 10 3 75
(3) I 75 IR 421 (4) FEE 102 R 515
Options:

E1547528153. 1
E1547528154. 2
E1547528155. 3
B1547528156. 4



Question Number : 15 Question Id : 6154757222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1z =signified by Udsharana of Anumiana (Inference) in

Indian Logic?

(1) Statement of reason

(2) Proposition to be proved

(3) Conclusion proved

(4) Universal proposition along with an instance
Options:

61547528157, 1
615475258158, 2
E154752815%9. 3
B1547528160. 4

Question Number : 15 Question Id : 6154757222 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) =TT T HeA
(2)  Tfgerta = fag F
(3)  Terd wTfoE

(4)  IETEIVT % 919 9rEYE qiqey
Options:
£1547523157. 1
E1547528158. 2
E1547Y528159 3
61547525160 4

Question Number : 16 Question Id : 6154757223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Devdatta 1z fat and he does not eat during the day. Therefore. Devadatta 1s eating during

the mght.

The above example. 1n clazsical Indian School of Logic. 1= a case of ;

(1) Comparison (2) Implication
(3) Perception {4y Verbal Testimony
Options:

E1547528161. 1
E1547528162. 2
BE1547528163. 3
615475258164, 4

Question Number : 16 Question Id : 6154757223 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  qom 2) TfEard

(3)  TFUWOT (4) FTEF =19
Options:
61547528161, 1
61547528162, 2
61547528163, 3
61547528164, 4

Question Number : 17 Question Id : 6154757224 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As per the classical square of opposition, if ‘A’ proposition is given as true, then which one
of the following is correct?

(1) “E” proposition 1s false, “I” proposition is true and “O” proposition is false

(2) “E” proposition is true, “I” proposition is true and “O” proposition is true

(3) “E” proposition 1g false, “I” proposition is false and “O” proposition is true

(4) “E” proposition 1is true, “I” proposition is false and “O” proposition is false
Options:

BE1547528165. 1
61547528166, 2
61547528167, 3



E15475281658. 4

Question Number : 17 Question Id : 6154757224 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  “E’ Thamd e 8, “T° ThaT Ted 8 3TN “O” g T8l B
(4)  “E’ Thaed wEl 8, “I7 ahaed Ted & AR “O” ThaEd Ted 8

Options:

61547528165, 1
61547528166 2
61547528167, 2
61547528168 4

Question Number : 18 Question Id : 6154757225 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following propositions is a contrary to “All poets are dreamers”™?

(1) Some poets are dreamers (2) Some poets are not dreamers
(3) No poets are dreamers (4) No dreamers are poets
Options:

615475281645, 1
61547528170, 2
615475258171, 3
BE1547528172. 4

Question Number : 18 Question Id : 6154757225 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frefafas # & FR-1 ghama mft wfa e aa E # farta 2

(1) 8 9 =g 2 2 (2) TS FHE = TE B E |
(3) e ot g TI29T 95 BT £ (4) e ot TEzE FiE T8 BT 2
Options:

615475281691
E1547528170. 2
E1547528171. 3
B1547528172. 4

Question Number : 19 Question Id : 6154757226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following is NOT a component of effective teaching?
(1) Questioning to check for the understanding of students

(2) Providing students with feedback

(3) Being flexible about how long it takes to learn

(4) Reactive mode of student’s behaviour

Options:

615475281731
61547528174 2
61547528175 2
61547528176, 4

Question Number : 19 Question Id : 6154757226 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TfoIrgd 3 8 FHi-91 I9Ta1 1916707 =7 51 981 & 7

(1) ST A FuEerl 1 99 % 60 9vE 1w

(2)  BEI = AL IUHE FIH]

(3) Hgd H oW Se SIS 6 91§ S e
(4) B F =EER § OfaimaTeR

Options:

61547528173, 1
61547528174 2
61547528175 2
615475258176, 4

Question Number : 20 Question Id : 6154757227 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following factors doesn’t contribute to assessment bias?

(1) When language of the test and the tester is different from the languages of the

students

(2) Answers that support middle — class values

(3) If assessment procedures are flexible and diverse to make disadvantaged students
comfortable

(4) Objective test for assessing abstract reasoning of the student.

Options:
61547528177, 1
615475281 7a. 2



E1547528179. 3
B1547528180. 4

Question Number : 20 Question Id : 6154757227 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547528177, 1
61547528178 2
61547528179 2
6154752812804

Question Number : 21 Question Id : 6154757228 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following 1s NOT related to qualitative research?

(1) Thematic analysis (2) Case study
(3) Discourse analysis (4) Survey method
Options:

61547528181, 1
61547528182 2
E1547528183. 3
E1547528184. 4

Question Number : 21 Question Id : 6154757228 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  TFIOTIeH ToegoT (2) = 9T
(3)  Wifaq favemm (4) Ha fafy

Options:
61547528181, 1
61547528182 2

61547528183, 3



E1547528184. 4

Question Number : 22 Question Id : 6154757229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Social Sciences, a central issue is the question of whether the social world can be studied
using the methods of natural sciences. This statement refers to the issue of :

(1) Ontology (2) Axiology
(3) Epistemology (4) Etymology
Options:

615475281851
615475258186, 2
E1547528187. 3
E1547528188. 4

Question Number : 22 Question Id : 6154757229 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ST (2) ToF HEE
(3)  FHHEE (4) oIl
Options:

615475281851
61547528186, 2
61547528187, 3
615475258188, 4

Question Number : 23 Question Id : 6154757230 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following is not the outcome of grounded theory research?

(1) Concepts (2) Narrative
(3) Categories (4) Hypotheses
Options:

615475258189. 1
E15475281380. 2
E15475281391. 2
B15475281382. 4

Question Number : 23 Question Id : 6154757230 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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ot

(1) ALY (2) &HATEA
(3) it (4) TR
Options:

515475281859, 1
615475258130, 2
615475251391, 3
E15475281392. 4

Question Number : 24 Question Id : 6154757231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the factors that do not contribute to the effectiveness of teaching from the options
given below :

(a) Socio — economic background of Teacher

(b) Teacher’s skill in pleasing the students

(c) Teacher’s subject knowledge

(d) Teacher’s personal contact with students

Choose the correct option :

(1)  (a), (c) and (d)
(2) (b), (¢) and (d)
(3)  (a), (b) and (c)
(4) (a), (b) and (d)

Options:

61547528193, 1
61547525194 2
615475281395 2
61547525196, 4

Question Number : 24 Question Id : 6154757231 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a). (c) T (d) 2) (b)), (c) 3T (d)
3)  (a), (b) I (c) 4) (a), (b) 3 (d)
Options:

E1547528192. 1
E15475281394. 2
E15475281395. 3
B1547528196. 4

Question Number : 25 Question Id : 6154757232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the alternative features from the following, which make open universities as

non-traditional universities :

(a) Innovative method of teaching and learning
(b) Innovative method of admission, curriculum and evaluation
(c) Modern communication techniques

(d) Teacher’s friendly approaches

Select the correct option :

(1) (b), (c) and (d) only
(2)  (a), (b) and (c) only
(3)  (a), (¢) and (d) only
4)  (a), (b) and (d) only

Options:
61547528197, 1



E15475281958. 2
61547528195, 3
61547528200, 4

Question Number : 25 Question Id : 6154757232 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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fafeiaa 9 | U Shfous fafrearet = g S g9a favataemem #1 T TR favafaaes s @

(a)  Toremor SR WA o FEEE Tl

(b) T, TETHH IR ToATHA F FATER] TR
(c) STEF FIUT TR

(d)  Toreqeni =1 fomEa ==9aEn

(i
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(1) =@ (b), (c) X (d) (2) A (a), (b) 3R (c)
(3) A (a), (c) IW (d) (4) a4 (a), (b) FR (d)
Options:

E1547528197. 1
E15475281958. 2
B154752819%9. 3
61547528200, 4

Question Number : 26 Question Id : 6154757233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Regarding E-governance. which of the following statements 1s / are correct?

(a) Decreasing transparency 1s an ICT enabled advantage of E-Governance.

{h) E-governance 1s related to the implementation of ICT 1n the government processes and
functions.

(c) Common Service Centres (CSCs) help 1n providing and using E-Governance related
services.

Choose the correct option :

(1) {a). (b). and (c)
(2) (b) and (c) only
(3) {(a) and (c) only

(4) (a) and (b) only
Options:
61547528201,
E154752E202.
B1547528203.
61547528204,

[ N

Question Number : 26 Question Id : 6154757233 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547528201, 1
61547528202, 2



E1547528203. 3
B1547528204. 4

Question Number : 27 Question Id : 6154757234 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following statements 1s / are correct?

(a) Software 1z loaded Intc secondarv storage from RAM and 13 then executed by

the CP1.

(b) A search engine 1= a software system that 1= designed to search for information on

the www.

Choose the correct option :

(1) (a) only
(2) (b) only
(3) Both (a) and (b)

(4) Neither (a) nor (b)
Options:
615475282051
61547528206, 2
61547528207, 3
61547528208, 4

Question Number : 27 Question Id : 6154757234 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528205, 1
61547528206, 2
E1547528207. 2
61547528208, 4

Question Number : 28 Question Id : 6154757235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below is a question followed by three statements. Identify the statements that are

necessary to answer the question.

Question : What is the percentage profit gained by a vendor when he gells an article?

Statements :
(a) He gives a 10% discount on the marked price.
(b) He would have earned 25% profit if he did not give any discount.

(c) The cost price of the article 15 Rs.8000.

Choose the correct option from those given below :

(1) (a) and (b) only
(2) (b) and (c) only
(3) (a) and (c) only

(4) (a), (b) and (c)
Options:
61547528209, 1
61547528210 2
61547528211, 2
61547528212 4

Question Number : 28 Question Id : 6154757235 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =3 (a) 3R (b) (2) #F=a (b) 3R (¢)
(3) ¥ (a) HNX (o) 4)  (a). (b) ¥ (o)
Options:

61547528209, 1
E1547528210. 2
61547528211, 3
BE1547528212. 4

Question Number : 29 Question Id : 6154757236 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements are true about a fuel cell?

(a) It is a device that uses electrochemical reactions to produce electric current
(b) It consists of a positive electrode and a negative electrode separated by an electrolyte
(c) Just like batteries it needs to be recharged with an electric current

Choose the correct option from those given below :

(1) (=) and (b) only
(2)  (b) and (c) only
(3) (a) and (c) only

(4)  (a), (b) and (c)

Options:
6154752821321
61547528214 2



E1547528215. 3
B1547528216. 4

Question Number : 29 Question Id : 6154757236 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
615475282131
61547528214 2
61547528215 =
615475258216, 4

Question Number : 30 Question Id : 6154757237 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Consider the following statements with reference to the proposition "Some gzirls are not
students”

(a) Subject term students 1s distributed

(b} Predicate term girls 1s undistributed

(c) Predicate term students 12 distributed

(d) Subject term girls 15 undistrbuted

Choose the correct option from thosze given below:

(1) Only (a) and (c) are correct
(2) Only (b) and (c) are correct
(3) Only (a) and (d) are correct

(4) Only () and (d) are correct
Options:
615475282171
1547528218 2
E1547528219. 2
G1547528220 4

Question Number : 30 Question Id : 6154757237 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547528217. 1
61547528218, 2
61547528219, 3
E1547528220. 4

Question Number : 31 Question Id : 6154757238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Choose two factors that do NOT affect the academic performance of students adversely :

(a) Low zelf — efficacy belief
(h) Belief 1n God
(c) Indifferent attitude towards politics

(d) Teacher's low expectation from students

Choose the correct option :

(1) (a) and (b) only
(2) (b) and (e) only
(3} (¢) and (d) only

(4) (b) and (d) only

Options:

61547528221, 1
61547528222 2
61547528222 2
E1547528224 4

Question Number : 31 Question Id : 6154757238 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528221, 1
E1547528222. 2
61547528222, 5
61547528224 4

Question Number : 32 Question Id : 6154757239 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the two statements from the following statements are correct?

{a) Sampling — related error 1z subsumed under the category non-sampling error

(b} Sampling error doesn't occur in multi-stage cluster samphng

{c) Inaccurate samphing frame and non-response are examples of sampling — related
E1TOr,

(d) There 1z an inverse relation between heterogeneity of population and sampling error.

Choose the correct option :

(1) (a) and (¢) only
{(2) (a) and (d) only
{(3) (b) and (d) only

(4) (b) and (c) only
Options:
E1547528225. 1
61547528226, 2
B1547528227. 3
E1547528228. 4

Question Number : 32 Question Id : 6154757239 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528225, 1
1547528226 2
E1547528227. 2
1547528228, 4

Question Number : 33 Question Id : 6154757240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following historic places with their distinguishing discipline of learning

Last I List II
Hiztoric places Disciphine
(a) Takshila ()  Astronomy
(b)y Ujjain (1) Buddhism
(c) Sarnath (m) Art. Architecture and Painting
(d) Ajanta (1v) Medicine

Choose the correct option from those given below :

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(11). (B)-(1). (c)-(1v). (d)-(111)
(3) (a)-(111). (b)-(1v). (e)-(11). (d)-(1)
(4) (a)-v). (b)-(1). (c)-(1). (d)-(112}
Options:

51547528229, 1

51547528230, 2

61547528231, 3
E154752823%2. 4

Question Number : 33 Question Id : 6154757240 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)-(@), (b)-(1), (e)-(id), (d)-(iv)
(@)-(11), (b)-(), (0)-Gv), (d)-(i)
(a)-(iid), (b)-(iv), (0)-(iD), (d)-(D)
(a)-(iv), (b)-(0), (e)-(i1), (d)-(iiD)

615475282291
61547528230, 2
E1547528221. 3
BE1547528232. 4
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Question Number : 34 Question Id : 6154757241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following soil orders with their descriptions

(a) Histosols (1)
(b) Andisols (11)
(¢) Gelisols (111)
(d) Anridsols (1v)

Choose the correct option from those given below :

(1) (a)-(iv), (b)-(1), (c)-(11), (d)-(111)
(2) (a)-(i1), (b)-(iv), (e)-(i), (d)-(iii)
(3) (a)-(1), (b)-(i1), (c)-(111), (d)-(v)
(4) (a)-(1), (b)-(i1), (¢)-(iv), (d)-(ii1)

Options:

61547528233, 1

61547528234 2

61547528235 2

61547528236 4

Soil order that includes soils formed on
volcanic ash

Soil order of cold regions including
soils underlain by permafrost

Soil order consisting of soils of dry
climates

Soi1l order consisting of goils with a
thick upper layer of organic matter.

Question Number : 34 Question Id : 6154757241 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(w), (b)-(), (e)-(11), (d)-(111)
(2) (a)-(11), (b)-(1v), (c)-(1), (d)-(1i1)
(3) (a)-(1), (b)-(i1), (c)-(ii1), (d)-(1v)
4) (a)-(1), (b)-(i1), (¢)-(iv), (d)-(i11)

Options:

61547528233, 1

61547528234 2

61547528235 2

E1547528236. 4

Question Number : 35 Question Id : 6154757242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List — I with List - IT

List I List 11
(Digital Initative) (Purpose)
(a) UMANG (1) G2B Services
(b) BHIM (1) Learning platform
(c) eBiz (111) Unified payment interface
(d) SWAYAM (iv) Single point of access to all

governme nt services.

Choose the correct option :

(1) (a)-(1), (b)-Q). (c)-(i1), (d)-(v)
(2) (a)-(111), (b)-(i), (¢)-(1v), (d)-()
(3) (a)-(v), (b)-(i11), (¢)-(1), (d)-(11)
(4) (a)-(1), (b)-(iv), (c)-(11), (d)-(111)



Options:

61547528237, 1
61547528238 2
E1547528229. 2
61547528240, 4

Question Number : 35 Question Id : 6154757242 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(11), (b)-(1), (¢)-(i11), (d)-(iv)
(2) (a)-(111), (b)-(ii), (c)-Av), (d)-()
(3) (2)-(), (b)-(11), (¢)-(1), (d)-(11)
(4) (a)-(1), (b)-(iv), (e)-(11), (d)-(111)

Options:

61547528237, 1

61547528238, 2

61547528239, 3
61547525240, 4

Question Number : 36 Question Id : 6154757243 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match correctly the items of Column I with the items of column II

Column I Column II
(a) Ontology (1) Ideographic
(b) Epistemology (i) Realism
(¢) Methodolgy (1) Survey
(d) Method (1v) Positivism

Choose the correct option :

1) (@-(), (b)-(iv), (O-(id), (d)-()
2 (a)-G), b)), (©)-(ii), (d)-(iv)
3 (@-v), (b)), (©-(), (d)-(iii)
@ (@-(), (b)-(iv), (0-(), (d)-(ii)

Options:
615475252411

BE1547528242. 2
E1547528243. 3
B1547528244. 4

Question Number : 36 Question Id : 6154757243 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a)  TATHTEET (1)  SAETSER
(b) ST (i) IRAEEAERE
(c) Tomet fafa (iii) THeqoT
(d) omed (iv) THhRIcHSdEg

& oo gHT

(1) (a)-(11), (b)-(1v), (¢)-(11), (d)-(@)
(2) (a)-(11), (b)-(1), (c)-(111), (d)-(iv)
(3)  (@)-(v), (b)-(i1), (¢)-(3), (d)-(iii)
@) (a)-Gi), (b)-(v), (©)-@), (d)-(ii)
Options:

BE1547528241. 1
B1547528242 2



E1547528243. 3
B1547528244. 4

Question Number : 37 Question Id : 6154757244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Select the advantage of feedback 1n the process of communication. from the following :

(1) It 15 beneficial in understanding of the subject matter
(2) It diagnoses the defects in receiver
(3) It clarifies the communication
(4) It explores the defects 1in receiver
Options:

61547528245 1
61547525248, 2
E1547528247. 3
E1547528248. 4

Question Number : 37 Question Id : 6154757244 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528245 1
61547528246, 2
E1547525247. 3
E1547528248. 4

Question Number : 38 Question Id : 6154757245 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following values with their distinguishing functions :

(a)
(b)

(c)
(d)

Last I

Sacrifice

Sincerity

Self control

Altruism

@
(11)

(111)
(1v)

Choose the correct option from those given below :

(1)
(2)
(3)
(4)

Options:

(a)-(11), (b)-(1), (¢)-(v), (d)-(111)
(a)-(1v), (b)-(1), (e)-(i1), (d)-(i11)
(a)-(111), (b)-(1v), (¢)-(1), (d)-(11)
(a)-(1), (b)-(i1d), (¢)-(11), (d)-(v)

BE1547528249. 1
B1547528250. 2
61547528251, 3
61547528252, 4

Last 1T

Working in a stipulated time

Confinement of individual mind on

action
Showing love and affection

Helping without selfish motives

Question Number : 38 Question Id : 6154757245 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (2)-@1), b)-G), (c)-(v), (d)-({ii)
(2) (a)-(iv), (b)-(i), (e)-(i1), (d)-(ii1)
(3) (a)-(iii), (b)-(iv), (¢)-(1), (d)-(i1)
@) (@)-Q), (b)-Gid), (o)-(id), (d)-(iv)

Options:

61547528249, 1
61547528250 2
61547528251 2
E1547528252. 4

Question Number : 39 Question Id : 6154757246 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Select the option that lists components for a cyberspace address (URL) in the correct order
from beginning to end?
(1) Protocol, domain name of the host, path / file
(2) Path / file, protocol, domain name of the host
(3) Protocol, path /file, domain name of the host
(4) Domain name of the host, protocol, path / file
Options:
E1547525252 1
C1547528254 2
61547528255 2
61547528256 4

Question Number : 39 Question Id : 6154757246 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

15475282551

1547528254 2

61547528255, 3

L1547E28256. 4

Question Number : 40 Question Id : 6154757247 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following sequence represents the correct order of soil particles arranged in
terms of particle size from the smallest to the largest?

(1) Gravel, Silt, Clay, Sand (2) Silt, Clay, Gravel, Sand
(3) Clay, Silt, Sand, Gravel (4) Silt, Clay, Sand, Gravel
Options:

61547528257, 1
E1547528258. 2
E15475282549. 3
B1547528260. 4

Question Number : 40 Question Id : 6154757247 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

-
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(1) =, e, Wedl, ey
(2 T, M, 79, "9
(® e, T, 9w, e

(4) e, W, =eg, s,

Options:

61547528257,
61547528258,
£1547528259.
E1547528260.

[ N

Question Number : 41 Question Id : 6154757248 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the steps of research in the sequence in which they are presented in the thesis

(1) Discussion, Review of Literature, Results, Conceptual Framework, Problem

(2) Review of Literature, Problem, Conceptual Framework, Result, Discussion

(3) Problem, Review of Literature, Conceptual Framework, Results, Discussion

(4) Problem, Review of Literature, Conceptual Framework, Results, Discussion
Options:

E1547528261. 1
B1547528262. 2
B1547528263. 3
61547528264, 4

Question Number : 41 Question Id : 6154757248 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

s

IMI-HTTE] Tl MI-Ta § TEqq i T99 69 77 5 o0 S1ar 27

(1) o=, dnfged =t THieq, 9o, SEEReT g, FEE
(2)  TEcT <hi THIET, TS, SASENON 0, TRy, gt
(3)  TEEI, WIEcT Thi FHI, FFURON T, T
(4) TSI, gitecd =hit G, IR0 g, TREE

Options:

1547528261, 1
E15475282E82. 2
61547528262, 5
61547528264, 4

Question Number : 42 Question Id : 6154757249 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Through on-line teaching a large number of students can be taught by very
competent faculty.

Reason (R) : On-line teaching helps students in developing critical thinking more than

the Off —line teaching can do.

In the light of the above two statements choose the correct option :

(1)
(2)
(3)
4)

Options:

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A)
(A) 1s true, but (R) 1s false

(A) 1s false, but (R) 1s true

61547528265, 1
G1547528266. 2
E1547528267. 3
E1547528268. 4

Question Number : 42 Question Id : 6154757249 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



1 31 YF fou MU B- SfHEYE (A) IR g T (R) ®
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Options:

1547528285 1

L1547EZ282EE. 2

E1547528267. 3
E1547528268. 4

Question Number : 43 Question Id : 6154757250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements - one 1s labeled as Assertion (A) and the other 1s labeled as

Reason (R):

Assertion (A): A blog is a form of social media.

Reason (R) : A blog allows anyone to communicate to a public audience.
In the light of the above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
2 Both (A) and (R) are ture and (R) 1s not the correct explanation of (A)
(3) (A) 1s true, but (R) is false

4) (A) 18 falze, but (R) 1s true



Options:

61547528269,
61547528270,
E1547528271.
1547528272,

o IR

Question Number : 43 Question Id : 6154757250 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Hr= 21 @y fou U B- vEen ST (A)RAR TR TE (R) ®
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(3)  (A)wEl & fohg (R) Teid & |

(4)  (A) T g (R) 5T 2 |

Options:

61547528269,
61547528270,
61547528271,
E1547528272.

[ N

Question Number : 44 Question Id : 6154757251 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A) :  Skill development is a key feature in every individual's life.
Reason (R) : An individual who wants to get employved, needs to possess good education
only.

In the context of above two statements, choose the correct option :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s false

(4) (A) 1s false, but (R) is true
Options:
15475282731
E154752E274. 2
El154dr7528275. 2
61547528276 4

Question Number : 44 Question Id : 6154757251 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
19 g1 Y 12U 0 §- UF W ATHFGT (A) IR TR F T (R) T T
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(3) (A) ¥81 8, 7g (R) T 2 |

4) (A TeE B, WG (R) TE R

Options:
B1547528273 1

E1547528274. 2



E1547528275. 3
B1547528276. 4

Question Number : 45 Question Id : 6154757252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Given below are two statements - one is labeled as Assertion (A) and the other is labeled as

Reason (R):

Assertion (A):  Government of India established higher educational statutory bodies to

ensure quality of education.

Reason (R) : There are some educational institutions in India which do not provide

quality education.

In the context of above two statements, choose the correct option :

(1)
2)
(3)
(4)

Options:

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) is not the correct explanation of (A)
(A) is true, but (R) is false

(A) 1s false, but (R) 1s true

B1547528277. 1
E1547528278. 2
BE1547528279. 3
E1547528280. 4

Question Number : 45 Question Id : 6154757252 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



9 g1 FYF U T B- U W ST (A) 3R TR T w6 (R) FE TR
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(1)  (A) 3T (R) T H&T & 377 (A) i =& == (R) 2 |
(2)  (A) R (R) 2@ T8I & W, (A) 1 9& = (R) 6 2 |
(3) (A=l g W, (R) T # |

4) (AT R T, (R) HET R
Options:
61547528277, 1
61547528278, 2
61547528279 2
E1547528280. 4

Sub-Section Number: 3
Sub-Section 1d: 615475322
Question Shuffling Allowed : Yes

Question Id : 6154757253 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the following passage and answer questions which follow.

Eventhough globalisation i1s one of the most discussed topics in the contemporary world. it 1s
not altogether a well defined concept. A multitude of global interactions are put under the
broad heading of globalisation. varving from the expansion of cultural and scientific
influences across borders to the enlargement of economic and business relations throughout
the world. A wholesale rejection of globalisation would not only go against global business, 1t
would also cut out movements of 1deas. understanding. and knowledge that can help all the
people of the world. including the most disadvantaged members of the world population. A
comprehensive rejection of globalisation can thus be powerfully counterproductive. There 1z a
strong need to separate out the different guestions that appear merged together in the
rhetoric of the antizlobalizsation protests. The globahsation of knowledze deserves a
particularly high profile recognition. despite all the good things that can be mghtly said
about the importance of "Local knowledge”.

Globalisation 1s often seen. both in journalistic discussions and in remarkably many
academic writings. as a process of westernization. Indeed. zome who take an upbeat view of
the phenomenon even sees 1t as a contribution of Western civilization to the world.

Sub questions

Question Number : 46 Question Id : 6154757254 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
According to the passage, which one of the following is not a well defined concept?

(1) Multiculturalism
(2) Identity

(3) Globalisation

(4) Local Knowledge

Options:

615475282511
61547528282, 2
61547528282, o
61547528284, 4

Question Number : 47 Question Id : 6154757255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to the passage, which one of the following is counter productive?
(1) Comprehensive support to globalisation

(2) Wholesale rejection of globalisation

(3) Comprehensive rejection of anti — globalisation protests

(4) Recognition of local knowledge systems

Options:



BE1547528285. 1
B1547528286. 2
B1547528287. 3
E1547528288. 4

Question Number : 48 Question Id : 6154757256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to the passage, globalisation 1s perceived often by media and academia as :

(1) Supporting local knowledge systems
(2) Detrimental to local knowledge systems
(3) A process of Westernisation

(4) A process of facilitating global bussiness
Options:
E1547528289. 1
61547525290 2
61547523291 2
61547528232 4

Question Number : 49 Question Id : 6154757257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The attempt of the author in the passage is :

(1) Unconditioned advocacy of globalisation

(2) Unconditioned rejection of globalisation

(3) Unconditioned rejection of local knowledge systems
(4) Unbiased evaluation of globalisation

Options:

61547528293, 1
61547528234, 2
615475258235, 3
E15475282396. 4

Question Number : 50 Question Id : 6154757258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As per the passage, a wholesale rejection of globalisation would result in affecting

(a) Global businesses
(b) Movement of Ideas

(c) Local knowledge systems

Choose the correct answer from the options given below :

(1) (a) and (b) only
(2)  (a)and (c) only
(3) (¢) and (b) only
@ (a). (b)and (0)

Options:

61547528297, 1
61547528298, 2
61547528299 2
61547528200 4

Question Id : 6154757253 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 6154757254 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TEITYT o SAAR FARgd § | i URYTYg STEERo T8 & 7

(1)  Fg-H&Hiaang (2) TEEH
(3)  IAvEE (4) TIHEE TE
Options:

1547528281, 1

1547520282 2

E1547528283. 3
E1547528284. 4

Question Number : 47 Question Id : 6154757255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TES % HTER AR | W HE AR w

(1) =i = =a9F g52H (2) vt il = s
(3)  dvdimro-Tamdl eeE # SE SRAE (4)  TUHE T Sgiad F e
Options:

61547528285 1

61547528286, 2

B1547528287. 3
B1547528288. 4

Question Number : 48 Question Id : 6154757256 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TEITST % STAR ITAR T HITSAT ST STRgaeh! 310 Tohd &9 | <@ Il 8 7

(1) TIEE IH TZ 1 T899 (2) TIHT T4 TZgA F 6 B
(3)  TTETERIO Sl U TR (4) Tovd =MW = T 9 1 TH TR0
Options:

BE1547528289. 1
B1547528230. 2
615475282391, 3
E154752823%2. 4

Question Number : 49 Question Id : 6154757257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TS § SEE A HeEiga § 0 R W ae mE B Y

(1)  S7dreor =1 o1 91 Threrd T (2) dvdEm oA v SRR
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Options:

61547528293, 1
61547528294 2
E1547528295 2
61547528296, 4

Question Number : 50 Question Id : 6154757258 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TEITYT o STER VA0 999 F 92 T T TR F1 Hefarad # 5 freent awrfaa w7

(a) 3T =
(by  To=mI * A
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I fog T o B 6 ORI R = i
(1) == (a) 3R (b)
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(3)  HaE (c) 3N (b)
4  (a), (b) I (0)
Options:
C1E47E2EZE7. 1
E1E47FEZEZ9E. 2

E15475282590. 3
E1547528200. 4

PART II Managernent

Section Id : 61547598
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Pane: Yes
Group All Questions: No
Sub-Section Number: 1

Sub-Section Id: 615475323



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154757259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mergers and acquisitions are example of which strategy of Ansoff (2 x 2) matrix?
(1) Present Product — Present market
(2) Present Product — New market
(3) New Product — Present market

(4) New Product — New market

Options:

61547528201, 1
615475282302 2
61547528203 2
61547528204 4

Question Number : 51 Question Id : 6154757259 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

faemm (Merger) U@ AR (acquisition) THTF (2 x 2) Hizwd i -1 it =1 w77
(1)  =0HH 30915 — 908 =

(2)  IFAM 3R — 791 SR

(3) 71 IR — FEEE SN

(4) AT 309G, — 41 SE
Options:
615475283011
61547528202 2
61547528203, 3
61547528204 4

Question Number : 52 Question Id : 6154757260 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following statements is true?

(1) The desire for a commodity backed by ability and willingness to pay 1s demand
(2) Decrease in input prices causes a leftward shift in supply curve
(3) Demand for car and price of petrol are inversely related

(4) Most demand functions are of the form, D=a+bP

Options:

615475283205, 1
61547528206, 2
61547528207, 5
61547528208, 4

Question Number : 52 Question Id : 6154757260 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(4)  SATIEHT A TFE D=a+bP F TET F &l

Options:

£15475283205. 1
E1547528206. 2
61547528207, 5
61547528208, 4

Question Number : 53 Question Id : 6154757261 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In micro economics which among the following sequence in respect of internal issues of the
business firms is correct?

(1) What to produce, how to produce, how much to produce, how to determine price of
product

(2) What to produce, how much to produce, how to produce, how to determine price of the
product

(3) How much to produce, what to produce, how to produce, how to determine the price of

the product

(4) What to produce, how much to produce, how to determine price of the product, how to
produce

Options:

1547528209, 1
E1547528210. 2
61547528211,
61547528212 4

Question Number : 53 Question Id : 6154757261 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=P A4 (ATeh! TEMIHTE) § Fefafaa 7 9§ F9-91 F5 SAeEnas shEal & AT qEal & q6 6
4 TE 87

(1) =9 STI5A L, FH SUGA L, TRaaT Seared R, HE STUg o oo et &

(2) T IeUEA HL, TR Seane Eﬁ-‘f«f, FH ICUCH FL, FE IAG F " fetfa =t

(3)  ToRaT STUTER L, T IIGA L, FE SUTEH L, FH IR F GeF FgiiE w=
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Options:

61547528209, 1
61547528210 2
61547528211, 2
61547528212 4

Question Number : 54 Question Id : 6154757262 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one of the following is the sequence of selection?
(1) Application blank, initial interview, employment tests, final interview, checking
references, physical examination

(2) Application blank, employment tests, initial interview, checking references, physical
examination, final interview,

(3) Employment tests, initial interview, checking references, physical examination, final
interview
(4) Employment tests, initial interview, checking references, final interview, physical
examination
Options:

615475282121
615475258314, 2
E1547528215. 3
E1547528216. 4

Question Number : 54 Question Id : 6154757262 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
6154752585131

E1547528214. 2
E1547528215. 3
B1547528216. 4

Question Number : 55 Question Id : 6154757263 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s closest to the nature of decision making?

(1) Decision on a particular course of action

(2) Too zelf evident requiring an answer

(3) Deciding on a choice after a series of brain storming

(4) The procesz of 1dentifving problems and opportunities and then resclving them
Options:

615475282171
61547528218, 2
E1547528218. 3



BE15475282320. 4

Question Number : 55 Question Id : 6154757263 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) EEe (Brain Storming Series) & = W81 999 T 9299 201
Options:
615475285171
61547528518 2

615475258219, 3
E1547528320. 4

Question Number : 56 Question Id : 6154757264 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A forecasting technique in which the group consists of persons who are phvsically dispersed
and are anonymous to one another 1s called

(1) Delphi Technique (2) Brain Storming Technique
(3) Heuristic Ideation Technigue (4) Decision Tree Techmique
Options:

61547528321, 1
E1547528322. 2
E1547528323. 3
BE1547528224. 4

Question Number : 56 Question Id : 6154757264 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e R fate e Tt g S e A i S wh-gE ¥ st w, weed ® -

(1) =e%1 (Delphi) 741 (2) HfEaskE==F (Brain Storming) g4
(3) =a: MY (Heuristic) T (4) T g% (Decizion Tree) TEATE
Options:

E1547528321. 1
E1547528322. 2
B1547528323. 3
B15475282324. 4

Question Number : 57 Question Id : 6154757265 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which one of the following 18 NOT correct in case of indifference curves?

(1) Indifference curves zslope downward to rizht

(2) Indifference curves of imperfect substitutes are convex to the origin

(3) Indifference curves neither intersect nor are tangent to one another

(4) Lower indifference curves indicate a higher level of satisfaction.
Options:

615475283251
G1547528326. 2
E1547528327. 3
E1547528328. 4

Question Number : 57 Question Id : 6154757265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

=fefaa 7 5 =19 stemE (Indifference) 6 o A9« § T80 981 27

(1) S a5 i1 BT giavredl Tt g 2|
(2) Ul TTARYTF F1 SHHH a5k Je7 o ST 8 2
(3)  STAMMM a5 7 T TH-ZF Bl FAT 8, 7 E TH-ZAL Hl T FaT B

(4) AT FAREE T 3= TR H Fad gl 2|

Options:
B1547528325. 1

E1547528326. 2
BE1547528327. 3
BE15475282328. 4

Question Number : 58 Question Id : 6154757266 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Human Resource selection 1s concerned with

(1) The activity to select a suitable pool of candidates

(2) Always being simulated by the departure of an employee

(3) Always ascertaining a candidate’s personality to ensure a suitability fit
(4) Applying appropriate technique to select a candidate

Options:



BE15475282329. 1
61547528230, 2
61547528221, 3
61547528332, 4

Question Number : 58 Question Id : 6154757266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT HH4E &1 999 TS Haied 2 7
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Options:

61547528229, 1
61547528220 2
E1547528221. 2
61547528222 4

Question Number : 59 Question Id : 6154757267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Human Resource Management (HRM) helps build successful cross border alliances by

ensuring that

(1) Ovrganisation spends 20 percent of their HR budgets on cross border alliances
(2) A strategy 1s 1n place before embarking on a cross border alliance
(3) Organisations that export their ideas to other societies and cultures
(4) International joint ventures are staffed by high quality managers
Options:

BE15475282333. 1
B1547528234. 2
61547528235, 3
61547528336, 4

Question Number : 59 Question Id : 6154757267 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



oo

e "ETeE TeeE (HRM) = =6t SIRINER T TU FH e -dteE (Cross Border Alliances) &9 ®

HETIAT AT B

(1) =27 S 3= gma 7aeE (HR) o912 1 20 Tiaerd Jel-H1e o ™ T # 2

(2)  TE-TY FE H qE UF AT HaEy w7

(3)  FTEA S AT TR gHL FHIS QY1 HEEaAl 9% ToAd ¢l

(4)  SIRIYE TYH STHA & (o0 =1 O aTel TR $e i SRl FAT

Options:

154752832331
E1547528224 2
61547528235,
615475282336 4

Question Number : 60 Question Id : 6154757268 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following 1s NOT a forecasting technique for assessing human resource
requirement in an organisation?

(1) Ratio analysis (2) Trend analysis
(3) Gaps analysis (4) Replacement charts
Options:

B1547528237. 1
61547528238, 2
61547528339, 3
61547525340, 4

Question Number : 60 Question Id : 6154757268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0 ) ) ' )
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(1) I Taverdo (2) M Tagey
(3) = fagemm (4) TfaEaTE JTEl
Options:

BE15475282337. 1
B1547528238. 2
61547528239, 3
61547525340, 4

Question Number : 61 Question Id : 6154757269 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Why has the bureaucratic form of organization been fundamentally questioned?

(1) Pressure of Globalization has rendered it unsuitable

(2) Organizations are experiencing acute pressure to change and pursue innovation as a
means of securing business growth

(3) Organizations have grown so large that it 1s almost impossible to create an effective
bureaucracy to manage them

(4) Information Technology has made it redundant

Options:

£1547525541. 1
61547528242, 2
61547528242 o
6154752582344 4

Question Number : 61 Question Id : 6154757269 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547528241, 1
61547528242 2
615475282343 o
6154752582344 4

Question Number : 62 Question Id : 6154757270 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following countries 1s NOT the member of the Shanghai Cooperation
Organization (SCQO)?

(1) China (2) Pakistan
(3) India (4) Japan
Options:

BE1547528245. 1
B15475282346. 2
G1547525247. 3
61547525348, 4



Question Number : 62 Question Id : 6154757270 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) == (2) IiferEaH
(3) EE Ik (4) FME
Options:

E15475282345. 1
B15475282346. 2
B1547528247. 3
61547525348, 4

Question Number : 63 Question Id : 6154757271 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Human Resource (HR) procedures provide for an important element of consistency 1n which
managerial perspective?

(1) Direction (2) Strategy
(3) Decision Making (4) Recruitment
Options:

6154752824591
61547528350, 2
615475258351, 3
E15475285352. 4

Question Number : 63 Question Id : 6154757271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

" HEEA (T AW Ui USgA % R & H el B HEeaql ged 1 Wi e B
(1)  Teem-Fem (2) TRt
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Options:

B1547528249. 1
615475282350, 2
61547528351, 3
615475258352 4

Question Number : 64 Question Id : 6154757272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In Queuing Theory, statistical pattern by which customers arrive over a period of time.
follows

(1) Binomial distrbution (2)  Normal distribution
(3) Poisson distribution (4) Long-normal distmbution
Options:

B15475282353. 1
61547528254, 2
615475258355 3
61547525356, 4

Question Number : 64 Question Id : 6154757272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) TfasmeaTi (Binomial) oo (2) HE Taaro
(3)  uraEs e (4) -aTEe faam
Options:

B15475282353. 1
61547528254, 2
615475258355 3
61547525356, 4

Question Number : 65 Question Id : 6154757273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s a correct description of attitude?

(1) Attitudes are learned.

(2) Attitudes are organized and are core to an individual.

(3) Attitudes are the major determinants of human behaviour.

(4) Attitudes are beliefs. feelings and action tendencies of individual toward objects.

1deaz and people.
Options:
615475283571
615475283508 2
E1547528359 2
1547528260 4

Question Number : 65 Question Id : 6154757273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547528357, 1
61547528358, 2
61547528359 2
61547528360 4

Question Number : 66 Question Id : 6154757274 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Homogenous subsets in the sampling are called

(1) Clusters (2) Samples
(3) Sample sizes (4) Strata
Options:

E1547528361. 1
E1547528362. 2
E1547528363. 3
BE1547528264. 4

Question Number : 66 Question Id : 6154757274 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
wftest # "o S9-EHE (Subsets) T Fel T 2

(1) 98 (Clusters) (2) Ufdga
(3) TTgT AT (4) T

Options:

61547528261, 1
61547528362 2
61547528363 2



E15475282364. 4

Question Number : 67 Question Id : 6154757275 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Customer Life Time Value (CLV) in the first year is

r r
1 CLY (1) = — 2) CLVQ)=m+——
(b (1) mx(l+d} (2) b= (1+d)
¥ r
3 CLV(l)=m-—— 4) CLV(Q)=mx——
(3) (1) =m 1-d (4) (1) mx{l_d)
Options:

51547528265, 1
61547528366, 2
61547528367, 3
E1547528368. 4

Question Number : 67 Question Id : 6154757275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Y| g9 § UTEF Sed Fet o9 (Customer Life Time Value) 2

: _ r AT samy ¥
(1) CLV(1)=mx e (2) CLV (1)=m T
3 CLV ()= m — —~ 4) CLV(1)=mx—"
(3) (1)= m - (4) (1) mx(l_d}

Options:

1547528365, 1
E15475283266. 2
61547528367, o
615475282368, 4

Question Number : 68 Question Id : 6154757276 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When an activity 1s not connected to any of intermediate or end event and has no bearing on
the project completion. 1= known as

(1) Danghng (2) Looping
(3) Dummy (4) Slack
Options:

E154752836%9. 1



BE15475282370. 2
615475282371, 3
B15475282372. 4

Question Number : 68 Question Id : 6154757276 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  fem (2) T
(3) Al 4) =%
Options:

BE154752826%9. 1
B15475282370. 2
B15475282371. 3
E1547528372. 4

Question Number : 69 Question Id : 6154757277 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to which of the following concept. it i1s presumed that businezss will continue its

operations for long time?

(1) Accounting period concept (2) Realization concept
(3) (Golng concern concept (4) Separate entitv concept
Options:

BE15475285373. 1
E15475282374. 2
B15475282375. 3
B15475282376. 4

Question Number : 69 Question Id : 6154757277 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) == 3 gFeT (2) o it FHeT
(3)  Tawar 1 e (Going Concern) (4) 1= sAfeaes H Aher
Options:

615475283731
E1547528374. 2
E1547528375. 3



BE15475282376. 4

Question Number : 70 Question Id : 6154757278 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Sale of long term investment shows

(1) Application of funds (2) Source of funds
(3) Change in current assets (4) Change in current liabilities
Options:

61547528377, 1
E1547528378. 2
E15475282379. 3
B1547528280. 4

Question Number : 70 Question Id : 6154757278 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ramEtas Ham 1 o o

(1) et =1 AT (2) = = '
(3)  =IEEE S e (4) FFEF TASE § 9iEEA
Options:

B15475282377. 1
B15475282378. 2
61547528379, 3
E1547528380. 4

Question Number : 71 Question Id : 6154757279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Total Asset Turnover Ratio and Total Assets to Networth Ratio of Kuber Ltd. are 1.75
and 2. respectivelv. If the Net Profit Margin of this company 18 8%. What 1s the Return on

Equity (ROE)?

(1) 0.20 (2) 0.25
(3) 0.22 (4) 0.28
Options:

61547528281, 1
61547528382, 2
61547528382, 3
E15475285384. 4

Question Number : 71 Question Id : 6154757279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
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1)  0.20 (2) 025

(3) 022 (4) 0.28

Options:

£1547528381.
E15475283282.
61547528283,
61547528284,

o LIRS

Question Number : 72 Question Id : 6154757280 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Net Income approach to valuation is based on which of the following assumption?

(1) There are taxes and cost of debt is less than cost of equity

(2) There are taxes and use of debt does not change the risk perception of investors

(3) There are no taxes and use of debt changes the risk perception of investors

(4) There are no taxes and cost of debt is less than the cost of equity and the use of debt

does not change the risk perception of investors.

Options:

15475283851
E1547528286. 2
61547528287, o
61547528288, 4

Question Number : 72 Question Id : 6154757280 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
615475282385, 1
61547528386, 2

61547528387, 3



E15475282388. 4

Question Number : 73 Question Id : 6154757281 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s aptly described by "2/10, net 307

(1) Credit policy (2) Credit standards
(3) Credit terms (4) Collection policy
Options:

BE15475282389. 1
B15475282390. 2
615475282591, 3
E1547528339%2. 4

Question Number : 73 Question Id : 6154757281 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) o =i (2) =9 AEE
(3) I I (4) HUEw i
Options:

61547528289, 1
61547528330, 2
6154752583391, 3
E15475285392. 4

Question Number : 74 Question Id : 6154757282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The major factor that allowed Portfolio Theory to develop into Capital Market Theory 1s

(1) Rizk free asset (2) Homogenous expectations
(3) Infimite divizibility of assets (4) Absence of taxes and transaction costs
Options:

E1547528393. 1
6154752553394, 2
E1547528395. 3
BE1547528396. 4



Question Number : 74 Question Id : 6154757282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528592, 1
E15475285394. 2
E15475282395. 3
B1547528396. 4

Question Number : 75 Question Id : 6154757283 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When managers commit errors of over optimism in evaluating merger opportunities due to
excessive pride or animal spirit 1s termed as

(1) Managerialism (2) Information Signaling
(3) Hubris Hypothesis (4) Sitting on gold mine
Options:

615475283397, 1
E1547528398. 2
E154752823949. 3
B15475258400. 4

Question Number : 75 Question Id : 6154757283 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T TEGE A e W 9T 9 (vhEe fEie) % wme faem medi s 1 g e 8 oAta-
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(1)  weEaTS (2) HEA HhaA
(3) =\ TftFeT (4) | H g |/ S
Options:

61547528397, 1
615475258398, 2
E1547528239%9. 3
E1547528400. 4

Question Number : 76 Question Id : 6154757284 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which of the following methods of capital budgeting is best suited for leveraged projects?

(1) Net present value (2) Internal rate of return
(3) Accounting rate of return (4) Profitability index
Options:

E1547528401. 1
E1547528402. 2
B1547528403. 3
515475258404, 4

Question Number : 76 Question Id : 6154757284 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

L
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(1) o= Fo9m 572 (2) AN =M T
(3) TEA o9 (4) EATHIEAT HEHE
Options:

61547528401, 1
61547528402, 2
61547525402, 3
E1547528404. 4

Question Number : 77 Question Id : 6154757285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

When each coupon pavment and the redemption value of bond are detached and are 1zsued
as separate and independent instruments are called

(1) Coupons (2) Strips
(3) Certificates (4) Warrants
Options:

E1547528405. 1
E1547528406. 2
61547528407, 3
615475258408, 4

Question Number : 77 Question Id : 6154757285 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547528405. 1
61547528406, 2
615475258407, 3
615475258408, 4

Question Number : 78 Question Id : 6154757286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The effect of continuous compounding 1s captured by

(1) Present Value x e” (2) Present Value x e
(3) Present Value / ™ (4) Future Value x e
Opt_ions:_ _ o - -

B1547528409. 1
61547528410, 2
615475258411, 2
615475258412, 4

Question Number : 78 Question Id : 6154757286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) STAE o x e (2) TEHFHA x e
(3) SE T qed [ e (4) wTE g x e
Options:

61547528405, 1
615475258410, 2
615475258411, 3
E154752841Z2. 4

Question Number : 79 Question Id : 6154757287 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Public Relations as a part of promotion in marketing refers to

(1) Management of reputation of the company

(2) Promoting products/brands of the company

(3) Managing an event of the company

(4) Conducting publicity campaigns around relevant issues
Options:

E1547528413. 1
E1547528414. 2
61547528415 3
615475258416, 4

Question Number : 79 Question Id : 6154757287 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

£1547528413. 1
E1547528414. 2
61547528415 5
61547528416, 4

Question Number : 80 Question Id : 6154757288 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following 15 NOT the characteristic of "Hyper Competition™?

(1) Competitions get bold. aggressive and hostile with dynamic movements
(2) Shorter Product and design life cvcles
(3) Uncertainty 1n business environment increases along with heterogenicity
(4) Financing cost becomes high

Options:

B1547528417. 1



E1547528418. 2
B15475258415. 3
B1547528420. 4

Question Number : 80 Question Id : 6154757288 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547528417, 1
61547528418 2
E1547528419 2
61547525420, 4

Question Number : 81 Question Id : 6154757289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Concept testing, test marketing and product testing are parts of which of the following?

(1) Innovation — Diffusion process (2) Product life cycle
(3) New Product development (4) Market development
Options:

61547528421, 1
G1547528422 2
615475258422 3
E1547528424. 4

Question Number : 81 Question Id : 6154757289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547528421. 1



B1547528422. 2
B1547528423. 3
B1547528424. 4

Question Number : 82 Question Id : 6154757290 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Modern organised retail business has a multitude of formats. These formats can be classified
according to the following :

(1) Merchandise offered only

(2) Size of the store area only

(3) Customer groups only

(4) Merchandise offered and size of the store area
Options:

E1547528425. 1
B1547528426. 2
B1547528427. 3
6154752584258, 4

Question Number : 82 Question Id : 6154757290 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475284251
E15475258426. 2
E1547528427. 3
E1547528428. 4

Question Number : 83 Question Id : 6154757291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In Service Quality GAPS model proposed by Parasuraman et.al., Gap 4 refers to

(1) Difference between the service level expected by the customer and the service level
received by customer

(2) Difference between the service delivered and the promise made to the customer

(3) Difference between the service specifications adopted and service quality actually
delivered

(4) Difference between the service expectations and service specifications given by the
customers.

Options:

BE1547528429. 1
B1547528430. 2



E1547528421. 3
B154752843%2. 4

Question Number : 83 Question Id : 6154757291 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(2)  UEE 4 S Har AR 34 TRy MU A % S w5 s
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Options:

61547528429, 1
61547528420 2
E1547528421. =2
61547528422, 4

Question Number : 84 Question Id : 6154757292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The syvstem that provides an organisation with sophisticated planning and control
functionalities, greater connectivity to its suppliers. business partners and customers 1is
described as

(1) Customer Relationship Management (CRM)
{(2) Manufacturing Resource Planning (MEP)
(3) Enterprise Rezource Planningz (ERP)

(4) Economic Order Quantity (EOQ)

Options:

61547525453 1
61547528424, 2
61547528435 5
61547528436, 4

Question Number : 84 Question Id : 6154757292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547525453 1
61547528424, 2
61547528435 5
61547528436, 4

Question Number : 85 Question Id : 6154757293 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

The situation of simultaneous satisfaction of row minima and column minima rule 1s termed
as

(1) Unboundedness

(2) Infeasibility

(3) Degeneracy
(4) Post-optimality analysis
Options:

E1547528437. 1
E1547528438. 2
B1547528435. 3
615475258440, 4

Question Number : 85 Question Id : 6154757293 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528437, 1
61547528438 2
61547525429, 5
61547528440, 4

Question Number : 86 Question Id : 6154757294 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following information systems at the management level of an organisation
serves the functions of planning. controlling and decision making by providing routine
summary and exception reports?

(1) Management Information Svstems (2)  Artificial Intelligence Systems
(3) Executive Support Systems (4) Decizsion Support Systems.
Options:

615475258441, 1
E1547528442. 2
B15475258443. 3
B15475258444. 4

Question Number : 86 Question Id : 6154757294 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) TSR FHEAT T (2) T Frgaan Tome
(3) FTHFRT TEEAT IO (4) = TEEaT Tome

Options:

61547525441 1
61547528442, 2
61547528442 o
61547525444 4

Question Number : 87 Question Id : 6154757295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Theory of Comparative Advantage given by David Ricardo in 1817 1s

(1) Two Commodity and One Factor theory

(2) Two Commodity and Two Factor theory

(3) Two Country, Two Commodity and Two Factor theory

(4) Two Country, Two Commodity and One Factor theory
Options:

615475258445 1
615475258446, 2
615475258447, 3
E154752844858. 4

Question Number : 87 Question Id : 6154757295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528445, 1
61547528446 2
E1547528447. 2
61547528448, 4

Question Number : 88 Question Id : 6154757296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

SIP in Market Targeting refers to

(1) Systematic Investment Planning (2) Short Input Processing
(3) Segment Investing Portfolio (4) Segment Invasion Plan
Options:

B15475284459. 1



E1547528450. 2
61547528451, 3
61547528452, 4

Question Number : 88 Question Id : 6154757296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

615475258449 1
E1547528450. 2
B1547528451. 3
B1547528452. 4

Question Number : 89 Question Id : 6154757297 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who propounded the ‘Force-Field theory’ of change process?

(1) Kurt Lewin
(2) Peter Drucker
(3) Joseph A. Schumpeter

(4) David C. McClelland

Options:

61547528453, 1
61547528454 2
61547528455 o
61547528456 4

Question Number : 89 Question Id : 6154757297 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528453 1
E1547528454 2
61547525455, 5
61547528456, 4

Question Number : 90 Question Id : 6154757298 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following 1s NOT a source of opportunity identification?

(1) Emplovees and ex-emplovees
(2) Dealers and Distributors

(3) Policy Documents

(4) Friends and relatives

Options:

BE1547528457. 1
61547528458, 2
615475258459, 3
615475258460, 4

Question Number : 90 Question Id : 6154757298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

£1547528457. 1
E1547528458. 2
61547528459, o
61547528460 4

Question Number : 91 Question Id : 6154757299 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Pear]l Ltd. Company purchased a van for Rs. 12,000 making a down payment of Rs. 5,000
cash and signing a Rs. 7,000 note payable in 60 days. As a result of this transaction :

(a) Total assets will increase by Rs. 12,000

(b) Total liabilities will increase by Rs. 7,000

(c) This transactions will not have immediate effect on owner’s equity in the business

(d) From the point of view of short-term creditor, this transaction will make business

more liquid

Choose the correct option :

(1)  (a)and (0
(2)  (b)and(d)
(3) (a) and (b)
(4) (b) and (c)

Options:
£1547528461. 1



E1547528462. 2
B1547528463. 3
615475258464, 4

Question Number : 91 Question Id : 6154757299 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) (a) 104 ()
(2) (b)) HFE(Q)
(3)  (a) 3 (b)

(4) (b)) M (c)
Options:
61547528461, 1
61547528462, 2
61547528463, 3
61547528464, 4

Question Number : 92 Question Id : 6154757300 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The combined leverage

(a) 1s the summation of the degree of operating leverage and the financial leverage
(b) measures total risk of the firm

(c) 1s the difference between the degree of operating leverage and financial leverage
(d) indicates the effect that changes in sales will have on earning per share

Choose the correct option
(1) (a) and (b)
(2)  (b)and (¢
(3)  (b)and (d)
(4) (c) and (d)
Options:
61547528465, 1
61547528466, 2

B1547528467. 3
6154752584658, 4

Question Number : 92 Question Id : 6154757300 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
61547528465 1
61547528466, 2
61547528467 3
E1547528468. 4

Question Number : 93 Question Id : 6154757301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As per RBI guidelines (2008), an MSME is considered to have reached the stage of incipient

sickness if the following events are triggered :

(a) When there are cost overruns because of delay in commencement of commercial

production by more than 6 months

(b) The enterprise incurs losses for 2 years or cash loss for one year
(c) The capacity utilisation i1s less than 50 percent of the projected level in term of sales
(d) There 1s an errosion in the net worth due to accumulated cash losses to the extent of

50 percent of net worth during the previous accounting year

Which one of the following is correct?

(1) (a) and (b) only

(2) (a), (b) and (c) only
(3) (b) and (c) only

(4 (a), (b), (c) and (d)

Options:

61547528469, 1
61547528470 2
61547528471, 2
E1547528472. 4

Question Number : 93 Question Id : 6154757301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  =a (a) 3R (b)
(2)  F9F (a), (b) AT (c)
(3)  Faw (b) 3T (c)

@ (@, D), (o) FE (D)
Options:
C1E47E2E4E9. 1
1547528470, 2
C1E47528471. 2
1547528472 4

Question Number : 94 Question Id : 6154757302 Question Type: MCQ Option Shuffling : No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following fully capture foreign exchange risk exposure of an manufacturing

enterprise?

(a) Transaction exposure
(b) Economic exposure
(c) Translation exposure
(d) Currency exposure

Choose the correct option :

(1) (a) and (b) only (2)
(3) (c) and (d) only (4)
Options:

E1547528473. 1
E1547528474. 2
61547528475 3
615475258476, 4

(b) and (c) only
(a), (b) and (¢) only



Question Number : 94 Question Id : 6154757302 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(d) 51 TR

(1) 3 (a) 3T (b) (2) FE (b) I (c)

(3)  FAH (c) SR (d) (4) =E (a), (b) 3 ()
Options:

61547528472 1
615475258474, 2
E1547528475. 3
BE1547528476. 4

Question Number : 95 Question Id : 6154757303 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Mintzberg's model of strategic decision making, i1ts modes are :

(a) Entrepreneurial. adaptation and planning

(b) Managerial. incrementalisation and judgmental
(c) Entrepreneurial. planning and incrementalhisation
(d) Judgemental. managerial and leadership

Which of the following options 1= correct?

(1) (a). (b) and (d) only (2) (a) and (c) only
(3) (b) and (c} only (4) (b). (e) and (d) only
Options:

B1547528477. 1
615475258478, 2
E1547528479. 3
E1547528480. 4

Question Number : 95 Question Id : 6154757303 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE1547528477. 1
E1547528478. 2
B15475284759. 3
61547528480, 4

Question Number : 96 Question Id : 6154757304 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Collusion’ is one of the co operative strategies in business combination that

(a) may be explicit

(b) may be tacit

(c) may reduce technological risk
(d) may be illegal in many countries

Which of the following option 1s correct?

(1) only (a) and (b) (2) (b), (c) and (d)
(3) (a), (b) and (c) (4) (a), (b) and (d)
Options:

BE1547528481. 1
B154752848%. 2
61547528483, 3
61547525454, 4

Question Number : 96 Question Id : 6154757304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  Fa9 (a) 3T (b) (2) (b), (c) R (d)
(3)  (a). (b) 3 (c) (4) (a), (b) 3T (d)
Options:

BE1547528481. 1
B154752848%. 2
61547528483, 3
61547525454, 4

Question Number : 97 Question Id : 6154757305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

To keep the brand live, contemporary and relevant, marketer uses a variety of measures such as

(a) Brand extension
(b) Brand rejuvenation
(c) Brand relaunch

(d) Brand proliferation

Which of the following is correct?

(1) (a) and (b) only (2) (a) and (c) only
(3) (a), (b) and (c) only (4) (a), (b), (c) and (d)
Options:

61547528485, 1
615475258486, 2
E1547528487. 3
E1547528488. 4

Question Number : 97 Question Id : 6154757305 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) 3= (a) 37 (b) (2) T (a) 3 (c)

(3) W (a), (b) W (c) (4) (a), (b), (c) 3 (d)
Options:

E1547528485. 1
61547528486, 2
B1547528487. 3
615475258458, 4

Question Number : 98 Question Id : 6154757306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Direct marketing 1z carried out in variety of ways. Some of the main forms of direct

marketing are
(a) Mail order marketing
(b) Telemarketing

(c) Omnline marketing

(d) Direct selling

Which of the following option is correct?
(1) (a). (b) and (c) only

(2) (a). (b), (¢) and (d)

{(3) (a). (b) and (d) only

{4) (a) and (c) only.
Options:
1547528459 1
E1547528490. 2
E1547525491. 2
1547528492 4



Question Number : 98 Question Id : 6154757306 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
61547528459,
61547523430,
61547528491,
615475258492,
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Question Number : 99 Question Id : 6154757307 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The strategic issues to which a retailing firm has to respond are :

(a) Location decisions

(h) Brand building decisions
(c) Merchandise mix decisions
(d) Target market selection

Which of the following option 1s correct?

(1) (a). (b) and (c) only (2) (a) and (c) only
(3) (a), (b), (¢) and (d) (4) (a), (c) and (d) only
Options:

61547528492, 1
E1547528454. 2
E1547528435. 3
B1547528456. 4

Question Number : 99 Question Id : 6154757307 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547528453 1
615475258434, =
61547525435, 3
E15475284396. 4

Question Number : 100 Question Id : 6154757308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Grounds for market segmentation based behaviour are :

(a) Benefit sought

(b) Life style

(c) Purchase ocecasion
(d) Usage rate

Which of the following option is correct?

(1) (a) and (b) only (2) (a), (¢) and (d) only
(3) (a), (b) and (c) only (4) (a), (b), (c) and (d)
Options:

61547528457, 1
6154752584398, 2
6154752584399, 3
E1547528500. 4

Question Number : 100 Question Id : 6154757308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) & (a) 3R (b) (2) FAE (a), (¢) I (d)
(3) @A (a), (b) I (c) (4) (a), (b), (c) ¥R (d)
Options:

615475284397, 1
6154752584358, 2
E1547528459%5. 3
E1547528500. 4

Question Number : 101 Question Id : 6154757309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of the following describes a combination of manufacturing systems designed to ensure

that, theoretically, 100 percent good units flow to subsequent operations?

(a) Autonomation
(b) Automation
(c) Bakayoke

(d) Kaizen

Select correct option :
(1)  (a) and (b) only
(2)  (b) and (c) only
(3) (a) and (c) only

(4) (c) and (d) only

Options:

61547528501, 1
61547528502, 2
61547528502 2
E1547528504. 4

Question Number : 101 Question Id : 6154757309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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S

(a) S
(b) HATEHIHE

(c) EIEgRIES

(d) EAESE]
W T T -

(1) %@« (a) 3 (b)
(2)  %a= (b) 3N (¢)
(3) HEW (a) #X (¢)

(4)  FEE (¢) W (d)
Options:
15475285011
1547528502 2
1547528503, 2
1547528504, 4

Question Number : 102 Question Id : 6154757310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct combination of properties of point estimates from the options given
below :

(a) Efficiency

(b) Consistency

(c) Adequacy

(d) Unbiasedness

Choose correct option :

(1) (a), (b) and (c) (2) (b), (c) and (d)
(3) (a), (c) and (d) (4) (a), (b) and (d)
Options:

61547528505, 1
E1547528506. 2
E1547528507. 3
51547528508, 4

Question Number : 102 Question Id ;: 6154757310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

= ToU U fashedt | Tog STIHTAH! i TaROarsl o HE qare i TEEE aW

(a)  merm
(b) Tara
(c) TETHAT
(d)  fAomerar
dﬁﬂﬂ ﬂiwuﬁ4'gﬁ :
(1)  (a). (b) 3 (c) (2) (), (e) W (d)
(3)  (a). (c) ¥ (d) (4) (a), (b) &R (d)
Options:

51547528505, 1
61547528506, 2
61547528507, 3
E1547528508. 4

Question Number : 103 Question Id : 6154757311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

At a given significance level, sample results in the rejection region are called

(a) Statistically significant
(b) Statistically insignificant
() Statistically critical

(d) Confidence interval

Select correct option :

(1) (a)and (c) only (2) (b) and (c) only
(3) (a) and (b) only (4) (a) and (d) only
Options:

B1547528509. 1
61547528510, 2
61547528511, 2
61547528512, 4

Question Number : 103 Question Id : 6154757311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  HIfEadE g o =@eF

(b)  TfeTdm e & sEdw

(c)  =feadm 3fe o Agcaym

(d) TavaE I

— i
el [ahed IH

(1)  Faa (a) 3T (c) (2) FaA (b) 3T ()
(3) A (a) HK (b) (4) @S (a) W (d)
Options:

E1547528509. 1
E1547528510. 2
61547528511, 3
G154752851%2. 4

Question Number : 104 Question Id : 6154757312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The difference between the point estimate and the true value of population parameter being
estimated 1s known as

(a) Sampling error
(b) Estimation error
(c) Probable error

(d) Standard error

Choose the correct option from the options given below :

(1) (a) and (c) only (2) (c)and (d) only
(3) (a) and (b) only (4) (a), (b) and (c) only.
Options: ‘ i o o i

515475285131
61547528514, 2
615475258515, 3
E1547528516. 4

Question Number : 104 Question Id : 6154757312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



UhE AN S SHEEAT 9GS o Aaras qod H S 1 [hE T H ST ST 8 7
() et o

(b)  AE "EE 9=
(c)  Terekar Haeft g

(d) RICETR (G

e # & W foweT T

(1) 3= (a) W (o) (2) A (c) W (d)

(3)  *ad (a) AT (b) (4) FEHA (a), (b) HAR (c)
Options:

515475285131
61547528514, 2
615475258515, 3
E1547528516. 4

Question Number : 105 Question Id : 6154757313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the right combination of primary data collection methods from the following :

(a) Observation
(b) Experimentation
(c) Corporate database

(d) Survey method

Choose the correct option :

(1) (a) and (d) only (2) (c) and (d) only
(3) (a), (b) and (d) (4) (a), (b) and (¢
Options:

E1547528517. 1
E1547528518. 2
B1547528519. 3
B1547528520. 4

Question Number : 105 Question Id : 6154757313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) FHIATFA

(b)  TaEw

()  FHINE TIEH

(d)  TE&w ugfa

TE faheT T+

(1) @ (a) 7 (d) (2) TS (c) AW (d)

(3)  (a), (b) 3T (d) (4) (a), (b) 3 (c)
Options:

E1547528517. 1
E1547528518. 2
B1547528519. 3
B1547528520. 4

Question Number : 106 Question 1d : 6154757314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

(Gains to corporate restructuring originates and derived from

(a) Resource re-allocation
(b) Market power
(c) Macro conditioning

(d) Operating synergy

Which option 1s correct?

(1)  (a) and (b) only (2) (b) and (d) only
(3)  (a), (b) and (d) (4) (a). (b) and (c)
Options:

61547528521, 1
B1547528522. 2
E1547528523. 3
61547528524, 4

Question Number : 106 Question Id : 6154757314 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FIHE JTEEHT & o] Feroad § o a9 Tafda ua Tfaaied &d 2 7
(a)  TETEH qHATEA

(b) TR W

(c) THfe (Macro) STTEEH

(d)  TETeR EwEEEE

-1 TheT T8 27

(1) @ (a) 37 (b) (2) Fa« (b) 3 (d)
(3)  (a), (b) 3 (d) (4) (a), (b) 3 (c)
Options:

61547528521, 1
61547528522, 2
E1547528523. 3
BE1547528524. 4

Question Number : 107 Question Id : 6154757315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The reasons behind the growth of financial markets globally are

(a) Currency fluctuations
(b) Deregulation

() International Banks

(d) Information Technology

Select correct option :

(1) Only (a) and (b) (2) Only (c) and (d)
(3) (a), (b) and (c) (4) (b), (¢) and (d)
Options:

BE1547528525. 1
B1547528526. 2
G1547528527. 3
E1547528528. 4

Question Number : 107 Question Id : 6154757315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Sfvas T 9 fod@ o0 9= & F 2-
(a) o1 == (Currency Fluctuations)
(b)  AfafEE

(c) UG S
(d)  FEAT drgERTER

T=foes 7 9 9-m faren w8 27
(1)  =aa (a) R (b) (2) ¥ (c) 3 (d)
(3)  (a), (b) AW (c) 4) (b), (c) 3T (d)

Options:
B1547528525,

E1547528526.
BE1547528527.
B1547528528.

[ N

Question Number : 108 Question Id ;: 6154757316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Entrepreneurs are motivated to start business enterprise because of various factors :

(a) Ambitious factors
(b) Compelling factors
(c) Facilitating factors
(d) Family factors

Which of the following options 1s correct?

(1) (a), (b) and (c) only (2) (a) and (c) only
(3) (a) and (d) only (4) (a), (b), (c) and (d)
Options:

B1547528529. 1
61547528530, 2
61547528521, 3
615475258532, 4

Question Number : 108 Question Id : 6154757316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)  TECATHIET

(b) oo

(¢) HHETEAT

(d) TTRETR

Fr=fatEg § 9 -9 foey w81 27

(1)  %38d (a), (b) 37 (c) (2) IS (a) AT (c)

(3)  wEE (a) X (d) 4) (a), (b), (¢) 3 (d)
Options:

615475285259, 1
61547528520, 2
61547528531, 3
E1547528532. 4

Question Number : 109 Question Id : 6154757317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Whistle blowing is normally unjustified in case of the following :

(a) Ulterior motive, Breach of trust
(b) To protect public interest

(¢) Insufficient evidence

(d) To inspire other employees

Choose the correct option :

(1) (a) and (b) (2) (a)and (c)
(3) (b) and (c) (4) (b) and (d)
Options:

61547528533, 1
61547528534, 2
E1547528535. 3
B1547528536. 4

Question Number : 109 Question Id : 6154757317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



smars 381 (Whistle Blowing) =fefaa & & forees gaw 7 3fas =9 & =ity 78 27
()  @Teae 9E, THraE a9u=

(b)  TATREd =t TET FHEAT
(c)  =TTary =ed

(d) == FHEAET F UG FET

(1)  (a) & (b) (2) (a) 3T (c)
(3)  (b) 3 (c) (4) (b) 3 (d)
Options:

B1547528533. 1
61547528534, 2
61547528535 3
615475258536, 4

Question Number : 110 Question Id : 6154757318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

On which of the following principles i1s Andrew Carnegie’'s view on Corporate Social
Responsibility, as reflected in his book, ‘The Gospel of Wealth’ based?

(a) Peter Principle

(b) Scaler Principle

(c) Charity Principle

(d) Steward Principle

Choose the correct option from the following :

(1) (a) and (b) only 2) (b) and (c) only
(3)  (c) and (d) only (4) (a) and (d) only
Options:

BE1547528537. 1
E1547528538. 2
61547528539, 3
61547528540, 4

Question Number : 110 Question Id : 6154757318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) Hrex fagm

(b)  Trew fazma

() =i faga
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(1)  a= (a) 3 (b) (2) =Fae (b) 3 (¢)

(3) T (c) N (d) (4) T (a) 3R (d)
Options:

61547528537, 1
61547528538, 2
E1547528539. 3
E1547528540. 4

Question Number : 111 Question Id : 6154757319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following 1s NOT the prominent objective of human resource planning?

(1) To prevent overstaffing and understaffing

(2) To ensure employee availability

(3) To provide direction to all HR activities

(4) To evaluate the performance of the employees
Options:

E1547528541. 1
B1547528542 2
61547528543, 3
615475258544, 4

Question Number : 111 Question Id : 6154757319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) ST TZITHT 9T TS T2 Fl THA]
(2)  FHEE I ST T FAT

(3) T UH AW AT G UgE AT
(4)  HHEIET % FE =R F Ao

Options:

61547528541, 1
E1547528542 2
61547528542 o
61547528544 4

Question Number : 112 Question Id : 6154757320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assertion (A) : Foreign trade policy 1s an important instrument that incentivise the
exporters of the country.

Reasons (R) : It 1s important for exporters of our country to have knowledge of foreign
trade policy
Which of the following option 1s correct?

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(3) (A) 1s correct but (R) 1s not correct

(4) Both (A) and (R) are incorrect
Options:

E1547528545. 1
61547528546, 2
G15475258547. 3
615475258548, 4

Question Number : 112 Question Id : 6154757320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A R (R)aH1 @81 € agr (R), (A) it wel = 2|
(2) (A @R (R) a9 781 £ 791 (R), (A) Fi =21 = 71 2
3) (A= 2w R) = E 2

4) (A @R R)FH =E TE R

Options:

£1547528545. 1
E1547528546 2
61547528547, o
61547528548, 4

Question Number : 113 Question Id ;: 6154757321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Methods of off-the-job training are :

(a) lectures, simulations and laboratory training

(b) role playing, vestibule training and video presentation
(c) job rotation and coaching

(d) job 1nstruction training

Choose the correct option :

(1) (a) and (c) (2) (a)and (b)
(3) (b) and (d) (4) (b)and (c)
Options:

61547528549 1
61547528550, 2
E1547528551. 3
E1547528552. 4

Question Number : 113 Question Id : 6154757321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(c) BlEREERecREa I

(d) e sEzFeE g
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(1)  (a) 3 (c) (2) (a) X (b)
(3)  (b) 3R () @) (b) 3 (c)
Options:

61547528549, 1
E1547528550. 2
B1547528551. 3
61547528552, 4

Question Number : 114 Question 1d : 6154757322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Psychological barriers in communication take place due the following reasons :

(a) Premature evaluation, lack of attention

(b) Organizational facilities, status relationships
(e) Poor retention, lack of reliance

(d) Hierarchy, organization policies

Choose the correct option :

(1) (a) and (b) (2) (a) and (c)
(3) (b) and (c) (4) (b) and (d)
Options:

E1547528553. 1
E1547528554. 2
E1547528555. 3
B1547528556. 4

Question Number : 114 Question Id : 6154757322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) Ao goard, SaE T S

(b)  TTEATCHS graHm, ¥ed d@a4 (Relationship)

(c) TS SO (Poor retention), farame it =

(d)  9E#F" (Hierarchy), TTe= =t ita=t

T2 foreT =1 =9 w1

(1)  (a) 3T (b) (2) (a) FW (c)
(3)  (b) JW(c) (4) (b) T (d)
Options:

61547528552, 1
615475258554, 2
E1547528555. 3
E1547528556. 4

Question Number : 115 Question Id ;: 6154757323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Novation, a feature of future exchanges stipulates

(1) Future contracts are traded in an exchange

(2) Exchange becomes a counter-party for all trades

(3) Futures contracts delivery dates are standardised

(4) Credit risk using intricate system of margins
Options:

E1547528557. 1
E1547528558. 2
E1547528559. 3
B1547528560. 4



Question Number : 115 Question Id : 6154757323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Farmr (Novation) 9mat fafime= &1 v T9&T B, T9oH o993 B

(1) e TFE=S | 9ISl JiaereT o "/1EgH ° SR R S B

(2)  EH =MW F 60 THEES a-94 §9 a7 2
(3) qTat TEETeT i qIE (delivery) Taf¥=T (dates) wehrra Bl 2

(4) WIS & SIS T3 o TINT H HiSS AMEH|

Options:

61547528557, 1
61547528558, 2
61547528559 2
61547528560 4

Question Number : 116 Question Id : 6154757324 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match the following approaches of moral reasoning with their propounders :

Moral Reasoning Proponder(s)
(a) Consequentialism Approach (1) Thomas Hobbes, Ayow Rand
(b) Deontological Approach (11) Aristotle
(c) Natural law theory (111) Ronald F. White
(d) Theological Approach (1v) W.D. Ross, John Rawls

Choose the correct option from the following :

1) (@)-@), B©)-0v), (0)-(ib), (d)-(i)
(2) (-, (b)-(i1), (c)-(1), (d)-(v)
3)  (@-@, b)-(v), (¢)-(11), (d)-(iii)
(4) (a)-(1), (b)-(11), (¢)-(iv), (d)-(ii1)

Options:

615475285661, 1
61547528562 2
61547528563 2
61547528564 4



Question Number : 116 Question Id : 6154757324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

o =

feriaa 4fa® f@a=m (Moral Reasoning) ST (Approaches) &1 39% Urqug! (Propounders)

F T1Y AT F
(a) TROTHT ST (Approach)
(b) ifama st
(c) TG faue = fagm

(d) TEEHgEE st

=1 9 = =% oo =1 == 71

(1) (2)-(1), (0)-(iv), (¢)-(ii1), (d)-(i))
2 (-1, (b)-an), (¢)-@), (d)-@v)
3)  (@-@), (0)-1v), (¢)-(), (d)-(11)
@ (a)-@), (0b)-@1), (c)-(v), (d)-(11)

Options:

61547528561,
61547528562,
61547528563,
61547528564,

o LI M

(1) omE e, T i
(1) IE
(iii) TATCS TH. =}

(iv) TEeg.E.4", WA Tod

Question Number : 117 Question 1d : 6154757325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0



Match the terms with the statement given below :

(a) Human behaviour results from a (1) Interactionalism
continuous and multidirectional
interaction between the person and
the situation

(b) People are central to the organization (1) Productivity Approach
and they must be developed to their
potential

(c) Manager’s efficiency depends on (i11) Contingency Approach
optimum utilization of resources

(d) The belief that there i1s no one best (iv) HR Approach
option available for an organization

Select the correct option :

(1) (a)-(1), (b)-(1v), (¢)-(11), (d)-(iid)
(2) (a)-@), (b)-(11), (c)-(11), (d)-(1v)
(3) (a)-(1), (b)-(i11), (¢)-(11), (d)-(1v)
(4) (a)-(1), (b)-(1), (¢)-(1i1), (d)-(1v)

Options:

61547528565, 1

61547528566, 2

B1547528567. 3
61547528568, 4

Question Number : 117 Question 1d : 6154757325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ATt U511 FE Iy e 9

(a) TG AR A 991 Ty W R () It TEnan

GE QEEFF FOF O § 309 AT B (Interactionalism)
(b) =M Tt @A % U wEeag B 2 SR (1) Senashdr At
-, T G B
3% I AHAl F ATER EEE e (Productivity Approach)
il
=l L

(¢} THTF I GEAT OS] B TEAH IOAFT 9T (iil) ATHERE AT

R Cil {(Contingency Approach)
(Q) 77 97 T B TEA F U o#E ft T (iv) e W iy

T FEe 30 95 B (HR Approach)

(1) (a)-(1). (b)-(1v). (c)-(1). (d)-(111)
(2) (a)-(1), (b)-(11). (c)-(112). (d)-(1v)
(3) (a)-(1). (b)-(111). (€)-(11). (d)-(av)
(4) {(a)-(11). (b)-(1). (c)-(111), (d)-(1v)

Options:

61547528565, 1

61547528566, 2

61547528567, 3
E1547528568. 4

Question Number : 118 Question Id : 6154757326 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following according to their definition :

(a) Career Planning

(b)y Career development

(c) Career management

(d) Human resource planning

Choose the correct option
(1) (a}-(11). (b)-(av). (e)-(111). (d)-(1)
(2) (a)-(1). (b)-(1v). (e)-(11). (d)-(111)
(3) (a)-(1). (b)-(111}, (c)-(1v). (d)-(1)
(4) (a)-(111). (b)-(1). (c)-(11). (d)-(1v)

Options:

154752556859 1

61547528570, 2

61547528571, 2

61547528572 4

(1)

(11)

(111)

(1v)

A process whereby an mndividual sets
career zoals and i1dentifies means to
achieve them

A process of enabling emplovees to
better understand and develop their
skill and interest and use them for the
interest of organization and self

The process of analvsis and 1dentifving
the need and availability of human
resources so that organization can
meet 1ts ohjectives

Refers to a formal approach used by
the firm to ensure that people with
proper qualification and experience
are avallable when needed

Question Number : 118 Question 1d : 6154757326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O
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(b) R faFE (i) FHEEl B FEH FAE i Gkl oE@E 6
32 SEdT dlh § HEIm ST Heh 3T I
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(1) (a)-(i1), (b)-(v), (c)-(1), (d)-@3)
(2) (a)-(1), (b)-Av), (¢)-(i1), (d)-(ii1)
(3) (a)-(11), (b)-(ii1), (c)-(v), (d)-(1)
(4) (a)-(111), (b)-(1), (¢)-(11), (d)-(1v)

Options:

61547528569, 1
61547528570 2
61547528571, 5
61547528572 4

Question Number : 119 Question Id : 6154757327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following constructs of asset pricing with its propagators.

Asset Pricing Constructs Proposer(s)
{a) Mean-Variance portfolio criterion (1)  Black and Scholes

(b) Size and Boock to market wvalue (1) Sharpa.Lintner and Mossin

portfolios
(¢} Capital Asset Pricing model (1) Fama & French
(d) Demvative {(option) pricing (iv) Markowitz. Harry

Choose the correct match from options given below :

(1) (a)-(11). (b)-(1). (e)-(1v). (d)-(11)
(2) {(a)-(1w). (b)-(111). (c)-(11). (d)-(1)
(3) (a)-(11). (b)-(1v). (c)-(1). (d)-(111)
(4) (a)-(1v). (b}-(1). (c)-(111). (d)-(11)

Options:

6154752857 3.
61547528574,
61547528575,
E1547528576.

[ N

Question Number : 119 Question Id : 6154757327 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Tfoiaa gfeuta 9o faoer & fo=am™ (Construct of assets pricing) 3R 38% TAIGH o1 FHa™

i e et o BIREIECs
(a) Hi-afum mewfeaar #wEefEm (i) =% U9 "iew
(b) HIET UT §F g AT Tog TR (i) =, foeaX wa HifEw
(c) THUTHA IFHT UTSTEAT HiseA (iii) T U W
(d) <ffa (sAeem) mrEfEm (iv) i,

MeiTee fawedt 5 | 81 fasheT @0 ==+ &t

(1) (a)-(111), (b)-@), (¢)-(Av), (d)-(11)
(2) (a)-(v), (b)-(111), (c)-(11), (d)-(1)
(3) (a)-(i1), (b)-(1v), (¢)-(1), (d)-(iii)
(4) (a)-(iv), (b)-(1), (¢)-(1iD), (d)-(11)

Options:

B1547528573 1

61547528574 2

B1547528575. 3
B1547528576. 4

Question Number : 120 Question Id ;: 6154757328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match the following constructs with underlying theories on dividend decisions :

List I List II
Dividend Constructs Theories on Dividend
(a) Bird-in-the hand argument (1) M-M theory
(b) Irrelevance of dividends (11) Walter Model

(c) Interdependence of investment and (i) Lintner model
dividend decisions

(d) Tax considerations in dividend (1v) Gordon model
decisions

Choose the correct options from those given below :

(1) (a)-(11), (b)-(1), (¢)-(111), (d)-(1v)
(2) (a)-(v), (b)-(111), (¢)-(1), (d)-(11)
(3) (a)-(111), (b)-(11), (¢)-(), (d)-(Qv)
(4) (a)-(1v), (b)-(1), (¢)-(11), (d)-(111)

Options:
B1547528577.

E154752857E.
BE1547528579.
B1547528580.

[ N

Question Number : 120 Question Id : 6154757328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(b) sfiferas =1Te fefagem oamer Fit sTomfFaT (i)  aTeet HisH
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(d) wrHTS ot |/ w= gest fTEr (iv) TEq "isd

TE faed =4

(1) (a)-(11), (b)-(1), (¢)-(111), (d)-(1v)
(2) (a)-(1v), (b)-(11), (¢)-(1), (d)-(11)
(3) (a)-(111), (b)-(11), (¢)-(1), (d)-(1v)
(4) (a)-(v), (b)-Q), (¢)-(11), (d)-(111)

Options:

61547528577, 1
61547528578, 2
615475285793 2
E1547528580. 4

Question Number : 121 Question Id : 6154757329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match List I with List 11

List I List II
(Strategy) (Example)
(a) Merger 1) HUL-TOMCO
(b) Acquisition (11) Kelvinator-Whirlpool
(¢) Takeover (111) Diamlerchrysler-AG
(d) Hostile bid (iv) L & T Technology-Mind Tree

Choose the correct option from the given below :

(1) (@-Q), (b)-(d), (¢)-(ii1), (d)-({v)
(2)  (2)-G), (b)-@), (¢)-v), (d)-()
(3) (a)-(11), (b)-(v), (¢)-(1), (d)-(111)
4)  (2)-Gi), (b)-@), (0)-(1), (d)-(v)

Options:

61547528581,
61547528582,
61547528583,
£1547523584.

[ N Y

Question Number : 121 Question Id : 6154757329 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T=HT-1 1 F=-11 S =1 e 1

T=HI-1 g -11
(Torifer) (SaTeT)
(a) foer @) w7 -
(b) 9T (Acquisition) (i) Ffeac-mgeTA
(¢) #AtmEY (Takeover) (i) SEER ST — T
(d) s arert (Hostile bid) (iv) TUS Uz & T -aEs 4

(1) (a)-(1), (b)-(i1), (0)-(ii1), (d)-(1v)
(2)  (a)-Q1), (b)-(), (¢)-(v), (d)-(1)
(3)  (a)-(11), (b)-(v), (0)-(0), (d)-(111)
4)  (a)-(11), (b)-Q), (©)-(1D), (d)-1v)

Options:
6154752585511

E1547528582. 2
E1547528583. 3
61547528584, 4

Question Number : 122 Question Id : 6154757330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Match List I with List IT :

List I List IT
(Branding Strategy) (Meaning)
(a) Line Extension (1) New product category and existing

brand name

(b) Brand Extension (11) Existing product category and existing
brand name

(c)  Multi Brands (111) Existing product category and new
brand names

(d) Co-branding (iv) Putting two established brand names
of different companies on the same
product

Choose the correct option from the given below :

(1) (a)-(@), (b)-(1), (c)-(iii), (d)-(1v)
(2) (a)-(1), (b)-(), (c)-(iii), (d)-(1v)
(3) (a)-(111), (b)-(1), (e)-(1), (d)-(1v)
(4) (a)-(D), (b)-(iid), (¢)-(1), (d)-(1v)

Options:

61547528585, 1
61547528586, 2
61547528587, 2
61547528588 4

Question Number : 122 Question Id : 6154757330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1), (b)-(11), (c)-(11d), (d)-(1v)
(2) (a)-(i1), (b)-(1), (¢)-(i1d), (d)-(iv)
(3) (a)-(111), (b)-(1), (¢)-(11), (d)-1v)
(4) (a)-(1), (b)-(111), (c)-(id), (d)-(iv)

Options:

61547528585, 1
61547528586 2
E1547528587. 2
61547528588, 4

@
(i)

(111)

(1v)

FA-IT

()
HIS[ET IE7E 4 SR T2 SIS F AW
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Question Number : 123 Question Id : 6154757331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following product categories and quality certification mark(s).

Product Categories Quality Certification Marks
(a) Gold and silver jewellery (1) ISI Mark
(b)  Agricultural products (1) FPO Mark
(c) Industrial products (111) BIS Hallmark
(d) Processed food products av) AGMARK

Choose the correct match from the options given below :

1) (@-Q), (b)-(1), (c)-Av), (d)-(111)
@) (@-Q), (0)-(v), (¢)-(11), (d)-(11)
(3)  (a)-(11), (b)-(11), (¢)-(1), (d)-(v)
(4 (2)-11), (b)-Gv), (¢)-O), (d)-(1)

Options:

61547528589, 1
61547528590 2
61547528591, =
61547528592 4

Question Number : 123 Question 1d : 6154757331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frforiaa seme Afor i Toras e foer = fFems ="

i AP oI THH e (FT)
(a) EM S AG F AT () o e e A
(b) FT IMT (i) T T A
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1) (@-@, ()-Q), (0)-av), (d)-(11)
(2) (a)-(1), (b)-(av), (¢)-(111), (d)-(11)
(3)  (a)-@), (b)-11), (c)-@), (d)-1v)
(4)  (a2)-(w), (b)-av), (¢)-Q), (d)-Q1)

Options:

61547528589, 1
61547528590 2
61547528591, 2
615475258592, 4

Question Number : 124 Question Id : 6154757332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Mateh List I with List 11

Tast 1 List II
(Theories of International Trade) (Propounder (s))
(a) Theory of Absolute Advantage (1) Raymond Vernon
(b) Factor Proportion Theory (1) Steffan Linder
(¢) Country Similarity Theory (111) Heckscher Ohlin
(d) Product Life Cycle Theory (iv) Adam Smith

Choose the correct option from the given below:

(1) (a)-(1), (b)-(11), (¢)-(111), (d)-(v)
(2) (a)-(v), (b)-(1), (¢)-(111), (d)-(1)
(3) (a)-(v), (b)-(111), (c)-(11), (d)-(1)
(4) (a)-(11), (b)-(11), (c)-(av), (d)-(1)

Options:

61547528593,
61547528594,
61547528595,
£1547528596.

[ N

Question Number : 124 Question Id : 6154757332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (a)-(1), (b)-(11), (¢)-(111), (d)-(1v)
(2) (a)-(1v), (b)-(11), (¢)-(111), (d)-(1)
(3) (a)-(v), (b)-(111), (¢)-(11), (d)-(1)
(4) (a)-(111), (b)-(1), (¢)-(v), (d)-(1)

Options:

61547528593, 1
61547528594 2
61547528595 2
61547528596 4

Question Number : 125 Question Id : 6154757333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



An MNC wants to invest in India. Of the following entry modes, select the right order in
terms of increasing risk?

(a) Co-operative joint venture
(b) Branch office

(c) Portfolio investment

(d) Wholy owned subsidiary
(e) Equity joint venture

Select correct option :

(1) (d), (c), (e), (a) and (b) (2) (b), (a), (e), (c) and (d)
(3) (a), (b), (e), (d) and (c) (4) (o), (a). (e), (b) and (d)
Options:

61547528597, 1
61547528598, 2
615475258599, 3
E1547528600. 4

Question Number : 125 Question Id : 6154757333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

b A [ S e

FTE UH UA HI (SEUYE FOAT) 9§ e e =edl @ S Feienad ge fawed # my 3ued g, 96

(a) e t—igrb 3597 (Joint Venture)
(b) M@ FETEE
(c) TRl TS

(d) o1 FaTECa AT FEEE O (Subsidiary)
(e) 3Rt TR 5599 (Joint Venture)

(1) (), (o), (e), (a) 3R (b) 2) (b, (a), (e), (c) 3T (d)
(3)  (a). (). (e), (d) 3 (c) (4)  (0), (a). (e), (b) =M (d)
Options:

61547528597, 1
615475285398, 2
615475258599, 3
E1547528600. 4

Question Number : 126 Question Id : 6154757334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Budgeting is closely related to planning in an organisation. It involves four stages and their
correct sequence is

(1) Setting the objectives, specifying the goals, laying down the strategies, preparation of
budget

(2) Setting the objectives, laying down the strategies, specifying the goals, preparation of
budget

(3) Laying down the strategies, setting the objectives, specifving the goals, preparation of
budget

(4 Specifying the goals, setting the objectives, laying down the strategies, preparation of
budget

Options:

61547528601, 1
E154752860Z2. 2
61547528603, 3
E1547528604. 4

Question Number : 126 Question Id : 6154757334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547528601, 1
61547528602, 2
61547528602 2
61547525604, 4

Question Number : 127 Question Id : 6154757335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



A global manager has cultural predisposition as follows :

(a) Regiocentricism
(b) reocentricism
(e) Polycentricism
(d) Ethnocentricism

Which one of the following sequence 1s correct?

(1) (a), (b), (¢c) and (d) (2) (c), (d), (a) and (b)
(3)  (b). (a), (c) and (d) (4) (d), (¢), (a) and (b)
Options:

E1547528605. 1
E1547528606. 2
615475286807, 3
61547525608, 4

Question Number : 127 Question 1d : 6154757335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
7 S T A S e S
(a) &g Feeang (Regiocentricism)
(b) 'H_\—aﬁ.,ﬁnﬁ (Geocentricism)
(c) El BN o (Polycentricism)
(d) TSg Fgarg (Ethnocentricism)
efafea g 9 FR-mFE 781 2

(1) (a), (b), (c) W (d) (2)  (c). ()., (a) 3 (b)
3)  (b), (@), (c) ¥ (d) 4)  (d), (c). (a) 3 (b)
Options:

E1547528605. 1
E1547528606. 2
615475286807, 3
61547525608, 4

Question Number : 128 Question 1d : 6154757336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The steps followed in developing a global pay system in right sequence are:

(1) Set strategy, identify crucial executive behaviour, global philosophy framework,
identify gaps, systematize pay system, adopt pay policies

(2) Set strategy, global philosophy framework, identify gaps, identify crucial executive
behaviour, adopt pay policies, systematize pay system

(3) Identify crucial executive behaviour, set strategy, global philosophy framework,
1dentify gaps, systematize pay system, adopt pay policies

(4) Adopt pay policies, identify crucial executive behaviour, set strategy, global
philosophy framework, identify gaps, systematize pay system.

Options:

1547528609, 1
E1547528810. 2
61547528611,
61547528612, 4

Question Number : 128 Question Id : 6154757336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(foreTTart ) ShHaeh, o7t i Tg==, 99 TSl i Fareed FET|

Options:

61547528609, 1
61547528610 2
1547528811, 2
61547525612, 4

Question Number : 129 Question Id : 6154757337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The right sequence 1n respect of stages of group development 1s

(1) Forming, storming, norming, performing, adjourning

(2) Storming, forming, norming, adjourning, performing

(3) Norming, performing, storming, forming, adjourning

(4) Storming, forming, norming, performing, adjourning
Options:

E1547528613. 1
B1547528614. 2
61547528615, 3
61547528616, 4

Question Number : 129 Question 1d : 6154757337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T Tah™ o =01 F TeH H HE HH BRT

(1)  Ted, ar-Taag (), e, ugem, fomes

(2) e -Taang (F2iHT), Ted, THeed, oo, g

(3) '&I'!Tl:i:[, m:ﬁﬂs qi@—ﬁmd (%-dTm‘l), e, {E:[udq

(4)  dTg-Tgarg (=), T, F99q, UgeE, ToEes

Options:

61547528613, 1
61547528614, 2
E1547528815 2
61547525616, 4

Question Number : 130 Question Id : 6154757338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



There are 7 elements of personal selling which are followed 1n certain sequence at the time of
making sales to customers by salesperson. The correct sequence 1=

(1) Prospecting. approach. pre-approach. presentation. overcoming objections. follow-up.
closing

(2) Pre-approach. approach. prospecting. presentations. overcoming ohjections. follow-up.
closing

(3) Prospecting, pre-approach. appreach. presentation. overcoming objections, clozing.
follow-up

(4) Approach. prospecting, pre-approach. overcoming objections. presentation. closing,
follow-up

Options:

61547528617, 1
615475286158, 2
E1547528619. 3
61547528620, 4

Question Number : 130 Question Id : 6154757338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt TokaT 2101 ShaT 1 ITHE S THT FHATE FH § SAETd fosht F 7 9cd TN STd @1 9T JE FH
2

(1)  FTET Tdq ST, TR (ST ), ST, TR T, ST g T, 1A, T

(2) -7, ST, WHEAT IA1 SR, TR, ST @ FE, ST, JE

(3) WIS W ST, W-STE, ST, TR, SIET gt FAl, TH, ST

(4)  STIE, FEEA G0 A, S-S0, STl g FAl, T, FE, S0

Options:

61547528617, 1
61547528618, 2
61547528619 2
1547528620 4

Question Number : 131 Question Id : 6154757339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



These are five distinet International Expansion Entrv modes which are followed by
businesses for entering international markets. Their correct sequence 1s

(1) Licensing, Franchising. Exporting. Partnering, Strategic Alliance

(2) Strategic Allance, Exporting, Licensing. Partnering. Franchizing

(3) Exporting. Strategic Alhance. Partnering, Licensing. Franchising

(4) Exporting. Licensing. Franchizing. Partnering, Strategic Alliance
Options:

E1547528621. 1
B1547528622. 2
B1547528623. 3
B1547528624. 4

Question Number : 131 Question 1d : 6154757339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
urm fafire sraeidm fomaw ufafe faften 2 o9 aeam | =oam @i aom § 1@ o 81 W At
F1 HE FH 2

(1) SAEHTET, HETsremT, Harda, T8-S, WHITds aEen
(2)  orTfas wEEnl, e, areat, wg-ar, et
(3) T, TOMITGE HIEGHT, HE-WIATAT, SEEre, FErsen
(4) farTa, SAEEtaT, FEnEtenT, qE- T, WHITdF ATEEr

Options:

61547528621, 1
1547528622, 2
61547528622, o
61547528624, 4

Question Number : 132 Question 1d : 6154757340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sequence are the steps of ‘QUEST’ technique of external economic
analysis?

(1) Conceptualization Phase — Evaluation Phase — Feedback Phase — Analysis
Phase
(2) Preparation Phase —» Divergent Planning Phase — Option identification Phase —

Scenario Development Phase

(3) Development Phase —» Scanning Phase — Evaluation Phase —» Strategic
Implementation Phase

(4) Scanning Phase — Segmentation Phase — Generative Phase — Review Phase.



Options:

61547528625, 1
1547528626 2
E1547528827. 2
1547528628, 4

Question Number : 132 Question Id : 6154757340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  STOEINUTeHF =0 —> HodThd =00 — $Brgas w0 —> fageer =@
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(4) TR IO —> GUSHE T —> I (SAIEE) WO —> EHiET =

Options:

61547528625, 1
61547528626 2
E1S47528627. 2
61547528628, 4

Question Number : 133 Question Id : 6154757341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



International negotiation is a seven step process comprising of the following :

(a)
(b)
(c)
(d)
(e)
@
(g

Information exchange and offer
Concession

Preparation

Building a relationship
Strategy

Persuasion

Agreement

Which of the following sequence 1s in the right order?

(1) (e), (c), (a), (£). (g) (b) and (d)
(2) (c), (e), (d), (a), (D (b) and (g)
(3) (g), (), (e), (0. (d) (a) and (b)
(4) (d), (@), (¢), (e), () (g) and (b)

Options:

L1E47FEZEEZE. 1

C1547E28E30. 2

L1547E28EZ1. 2

L1547528E32 4

Question Number : 133 Question Id : 6154757341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



[T HieshTiar (FRTTETeE ) Toh | =20 gl kAT 8, (e =00 2
"

()  HEAT AGHE-TGE R ATH

(b)  TesAmE

(¢)  ad

(d)  Hae f=ET

(e)  TOMIM

(f) ~ FEAM 70 TgT F

=

(2) THET
ST o Ta¥ § Feferiaa | 5 we-u 96 #5627

(1) (o), (o), (a), (D), (g) (b) 3 (d)
(2) (). (e), (d), (a), (D (b) 3T (g)
(3)  (g), (@), (e). (D). (d) (a) 3 (b)
(4)  (d), (@), (), (e), (® () N (b)

Options:

61547528629, 1
61547528630 2
61547528631, 2
1547528632 4

Question Number : 134 Question Id : 6154757342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Marketing feasibility of any idea includes the following aspects :

(a) Current and future demand estimates
(b) Market segmentation and identification of target markets
(c) Competition analysis

(d) Market testing

Which of the following option are correct?
(1) (a), (b) and (c) only

(2) (b), (¢) and (d) only

(3) (a) and (b) only

(4)  (a), (), (¢) and (d)

Options:

1547528633, 1
615475258624, 2
61547528635 o
61547528636, 4

Question Number : 134 Question Id : 6154757342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



ot Tamm (smefean) Fi forvm =gaedar 9§ F=faiaa Tee THe 24 ©

(a) TN 3T 9TET qT AR

(b) T QUSRI AR AT FI9R 61 T89H
(c)  wfaersn favemo

(d) ST TEe

eTrerEd B § Hia—H1 TasheT 98 2 7
(1) =59 (a), (b) 3 (c)

(2) %= (b), (o) T (d)

(3)  Fa (a) I (b)

(4)  (a), (b), (c) 37 (d)

Options:

1547528633 1
E1547528824 2
61547528635, o
61547528636, 4

Question Number : 135 Question Id ;: 6154757343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



For marketing the products of MSME, marketing strategy has to be formulated which
consists of 4Ps

(a) Product

(b) Promotion

(c) Place

(d) Price

Which one of the following sequence 1s correct?

(1) (a), (b), (c) and (d) (2) (@), (b), (c) and (d)
(3) (a), (d), (¢) and (b) (4) (a), (0), (d) and (b)
Options:

61547528637, 1
E1547528638. 2
E1547528639. 3
61547528640, 4

Question Number : 135 Question Id ;: 6154757343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR, Y 3 759H SOF (TH UA UH 3) Scargl o oo 72 =R ‘P aredt faer worifa st gt 2

(a) <oE

(b)  TTeETE

(c) H

(d) T

feafafeg g o FR-T g w8 2 7

(1) (a), (b), (c) 3 (d) (2) (a), (b), (c) 3R (d)

3) (2, (), (c) ¥R (b) 4) (a), (¢), (d) 3 (b)
Options:

B1547528637. 1
61547528638, 2
61547528639, 3
61547525640, 4

Question Number : 136 Question Id : 6154757344 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements labelled as Assertion (A) and Reason (R).

Assertion (A) : Everyv product or service should be branded otherwize theyv will be treated
as commodity.

Reasons (R) : If the product or service 1= branded then it alwavs commands a higher
price.

Read the statements and choose the correct answer from the options given below :

(1) Both (A) and (R) are correct and (R) 1s the mght explanation of (A)
(2) Both (A) and (R) are correct and (R) 1z not the mght explanation of (4)

(3) (A} 1= correct but (R) 1s incorrect
{4) Both (A) and (R) are correct
Options:

61547528641, 1
615475258642 2
615475258643, 3
61547525644, 4

Question Number : 136 Question Id : 6154757344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT (A) T IeUTE AT BT il FET Y ] FET =T I T0F qH=1 ST |
T+ (R) : Ifg ST IoIg STaT HaT I FIST Fd & qT ST FHI SH 39 Aod T FHhd o

TreteafEa 8 | S -9 fasren =g 27

(1) (A) R (R) & 7t € 991 (R), (A) it =61 =are 2

2 (A =R ®R) T = E TR ([R), (A) T wE = T
(3) (A gl g g (R) T 2

(4 (A (R)TH T B

Options:

61547528641, 1
61547528642 2
61547528642 2
61547525644, 4

Question Number : 137 Question Id : 6154757345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements labelled as Assertion(A) and Reason (R). Read the

statements and answer the question that follows :

Assertion (A) : International product standardisation i1s least costly in terms of both
manufacturing and marketing costs for the company. So companies should

bring uniformity in their marketing mix elements

Reasons (R) : No change in the product itself is required for marketing overseas but
many items may require some adaptation for making them suitable to the

foreign markets.

Which of the following options is correct?

(1) Both the statements (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) Statement (A) is correct but (R) 1s incorrect
(4) Both statements (A) and (R) are incorrect
Options:

61547528645, 1
615475258646, 2
E1547528647. 3
E15475286458. 4

Question Number : 137 Question Id : 6154757345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



ATFT (A) FWIGT IeIg T FEot o o7 fafmior o foauom g1 wget 8 ==aw g=ien g
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1) (A R R)a =& E 790 R), (A) F =E === 2
(2) (A 3 (R) 2 =& E W= (R), (A) Fit TE =men 6 2
3) (A= g g (R) oW 2

4 (A R (R) T g 2

Options:
615475258645, 1

E154752864E. 2
B1547528647. 3
615475258648, 4

Question Number : 138 Question 1d : 6154757346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements labelled as Assertion (A) and Reason (R). Read the

statements and answer the question that follows :

Assertion (A) : The basic thrust of strategic decision making in the process of strategic
management 1s to make a choice regarding the courses of action to adopt,

which is the primary task of the senior management.

Reasons (R) : This 1s so because the basic concern in strategic management 1s to seek
answers to questions. What 1s our business? What will it be? and what

should it be?

Which of the following options is correct?

(1) Both the statements (A) and (R) are correct and (R) is the right explanation of (A)

(2) Both the statements (A) and (R) are correct but (R) 1s not the right explanation of (A)

(3) Statement (A) 1s correct but statement (R) 1s incorrect
(4) Both statements (A) and (R) are incorrect
Options:

615475286459 1
61547528650, 2
E15475258651. 3
E1547528652. 4

Question Number : 138 Question Id : 6154757346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A) 3 (R) 3 =& 2 a4 (R), (A) F1 =@ = 2|

(2) (AR R) ZF 78 2 g (R), (A) F1 =F =me 78 2
3) (A =& ? W (R) T 2

4) (A IR (R) T T T

Options:

£1547528649. 1
61547528650, 2
61547528651, o
61547528652, 4

Question Number : 139 Question Id ;: 6154757347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Two statements given below are labelled as Assertion (A) and Reason (R). Read the
statements and answer the question that follows.

Assertion (A) : Plant location 1s often oriented toward dominant factors such as raw
material sources while warehouse location is definitely distribution
oriented.

Reason (R) : Plant location decision 1s driven by the competition and competitor while

the warehouse location decision 1s exclusively driven by the cost
conslderations.

Which of the following options is the correct?

(1) Both statements are correct and statement (R) 1s the correct explanation of
statement (A)

(2) Both the statements are correct and statement (R) is not the correct explanation
of (A)

(3) Statement (A) 1s correct and statement (R) 1s not correct

(4) Statement (R) 1s correct and statement (A) 1s not correct

Options:

E1547528653. 1
E1547528654. 2
E1547528655. 3
B1547528656. 4

Question Number : 139 Question Id : 6154757347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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SMHFHL (A) TIA FT TYH TE: TGS FRHI GE Fol WA F GG & UG I Fal § 6k HSHIT
Ea T fafvad 9k = faqor @ g 2|
% (R) : T T Hadl o ufaeret 7 ufaers atafeaet | gwrfad g 8 sefe qverm

TN FEEHT [ qoiaEn @rTd qasl FE-faen ¥ 9ed B 2
& faen =

(1)  ZHEI %99 T8 8 991 799 (R), F97 (A) 1 TE =18 B
(2)  TEI YT TE E 99T F99 (R), FUF (A) i TE =T 76 2|
(3)  HYF (A) @ 2 31w (R) T T

(4)  F¥F (R) 9ET & 31 F9F (A) 79 2

Options:

61547528653, 1
61547528654, 2
61547528655 2
E1547528656. 4

Question Number : 140 Question Id : 6154757348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Given below are two statements labelled as Assertion (A) and Reason (R). Read the

statements and answer the question that follows :

Assertion (A) : The addition of independent variable(s) causes the predictions error to
become smaller
Reasons (R) : With addition of independent variable, R? becomes larger to cause smaller

prediction error

Which of the following options is correct?

(1) Both statements are correct and (R) 1s the correct explanation of (A)
(2) Both statements are true and (R) 1s not the correct explanation of (A)
(3) Statement (A) is correct and Statement (R) 1s incorrect

(4) Statement (R) 1s correct and Statement (A) 1s incorrect



Options:

61547528657, 1
61547528658 2
E1547528859 2
1547528660, 4

Question Number : 140 Question Id : 6154757348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
=1 =1 wuF fou o ¥ o sAfiyees 3R o g1 T 21 T RYA1 R Uiee @R Hi= T mu oo § 5 e

I FT T F \EU__ :

ATFRST (A) : Toad T (FR) F FEUA T q@EigAe FEt IR sHenRa 9 w2l
T+ (R) : T =’ % A F R2FT 9 §g 1 2 EE EigEE 1R w9 F 2

(1) THI Y T8 € a9 (R), (A) 1 JE =e 2
(2)  THI ®YE =6 2 a9 (R), (A) #1 9E = T8 2
(3)  wYF (A) T 7 3R T (R) Toa 2

(4)  FF (R) T8 3 3R F99 (A) 7o 2
Options:
61547528657, 1
61547528658, 2
615475286549 2
615475258660, 4

Sub-Section Number: 2
Sub-Section 1d: 615475324
Question Shuffling Allowed : Yes

Question Id : 6154757349 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension



Bazed on the information given below, answer the guestions which follow.

Kruger Corporation has recently implemented a standard cost svstem. The management has
obtained the following information for variance analvsis :

(a) Standard cost information :
Direct materials = Rs. 5 per ke.
Quantity allowed per unit = 100 kg per unit
Direct labour rate =  Rs. 20 per hour
Hours allowed per unit = 2 hours per unit
Fixed overhead budget = Rs. 12.000 per month
Normal level of production = 1.200 units
Fixed overhead application rate = Rs. 10 per unit
Variable overhead applicable rate =  Rs. 2 per unit
Total overhead applicable rate = Rs. 12 per unit

(b)  Actual cost information :
Cost of materal purchased and consumed =  Rs. 4.68,000
Quantity of material purchased and consumed =  Rs. 1.04.000 kg
Cost of direct labour =  HRs. 46.480
Hours of direct labour = 2240 Hrs.
Cost of varmable overhead = Hs: 2.352
Cost of fixed overhead = Rs. 12.850
Volume of production = 1000 units

Sub questions

Question Number : 141 Question Id : 6154757350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the direct materials price variance, given an actual price of Rs. 4.50 per kg?

(1) Rs. 20,600 unfavourable (2) Rs. 52,600 favourable
(3) Rs. 48,600 favourable (4) Rs. 52,000 unfavourable
Options:

BE1547528661. 1
B15475286862. 2
61547528663, 3
61547525664, 4

Question Number : 142 Question Id : 6154757351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the material quantity variance?

(D Rs. 26,000 favourable (2) Rs. 20,000 unfavourable
(3) Rs. 28,000 favourable (4) Rs. 29,000 unfavourable
Options:

51547528665, 1
E154752866E6. 2
E1547528667. 3
E1547528665. 4

Question Number : 143 Question Id : 6154757352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the labour efficiency variance?

(1) Rs. 4,800 unfavourable (2) Rs. 4,200 favourable
(3) Rs. 4,800 favourable (4) Rs. 1,200 unfavourable
Options:

E154752866%9. 1
B1547528670. 2
E1547528671. 3
E1547528672. 4

Question Number : 144 Question Id : 6154757353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Obtain the overhead spending variance.

(1) Rs. 29,202 unfavourable (2) Rs. 1,202 unfavourable

(3) Rs. 1,200 favourable (4) Rs. 15,202 favourable

Options:

6154752867 3.
61547528674,
61547528675,
E1547528676.

[ N

Question Number : 145 Question Id : 6154757354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What 1s the overhead volume variance?

(1) Rs. 4,600 favourable
(3) Rs. 4,000 unfavourable

Options:

1547528677, 1
61547528678, 2
61547528679 2
615475286280 4

(2)
(4)

Rs.

2.200 unfavourable

2.000 unfavourable

Question Id : 6154757349 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension

Questions: No
Question Numbers: (141 to 145)
Cuestion Label © Comprehension

FR FOANIE 4 2 A § UF 99F AU Ul BT # 2| TEeE 4 B A H Taaa e % e

et = wEe O
{a) AT =1 =T
Teas AT

ANTEE HAEES et o

(b) AT AT FE ;
TS HH il T
TeAA ¥ W
Fatfa (fFes) sieres i @
FEqTGA 1 AT

T GEA F AW T OO F I G

Sub questions

Question Number : 141 Question Id : 6154757350 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical

100 .. ufs If4=
20 =7 T4 9.
12.000 #75 wiemrs
1.200 FM2

10 =93 ufd 3t

2 F WA I

12 w73 ufa g2

4,68.000 ==
1.04,000 7.9
46.480 %,

29240 =2

2.352 ¥y
12.850 =73
1000 A2

Yes



Correct Marks: 2 WrongMarks: 0

4.50 9 Ui TR.U1. & 15U 70 arEaraes 9o9 W Uee |l 9o faEar (IREE) 39 g

(1) 20,600 ¥ "faga (2) 52,600 TR FATESA
(3) 48,600 T FIFTA (4) 52,000 ¥ FfaEe
Options:

E15475286E1. 1
E1547528662. 2
BE1547528663. 3
61547528664, 4

Question Number : 142 Question 1d : 6154757351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ATt A e Rt 27

(1) 26,000 T ST (2) 20,000 FT T
(3) 28,000 T FTIF (4) 29,000 ¥ Tfege
Options:

E1547528665. 1
E1547528EEE. 2
E1547528667. 3
E1547528668. 4

Question Number : 143 Question Id : 6154757352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T FUAAT ST Tohaar 27

(1) 4,800 *7F "faEe (2) 4,200 F9F HATFSA

(3) 4,800 %9 IFA (4) 1,200 ®1@ Tfage
Options:

61547528669, 1
61547528670, 2
E1547528671. 3
E1547528672. 4

Question Number : 144 Question Id : 6154757353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Obtain the overhead spending variance.

(1) Rs. 29,202 unfavourable (2) Rs. 1,202 unfavourable
(3) Rs. 1,200 favourable (4) Rs. 15,202 favourable
Options:

E1547528673. 1
61547528674, 2
E1547528675. 3
B1547528676. 4

Question Number : 145 Question Id ;: 6154757354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

sratgs =TT Taerar fraer 27

(1) 4,600 T FTIEA (2) 2,200 T UfaES
(3) 4,000 T9 UfqEe (4) 2,000 T2 UraES
Options:

E1547528677. 1
E154752867E. 2
E1547528673. 3
61547528680, 4

Sub-Section Number: 3
Sub-Section Id: 615475325
Question Shuffling Allowed : Yes

Question Id : 6154757355 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

Read the passage and attempt the gquestions that follow :

Dinesh. a voung executive. joined Softech Co. three months back. Coming with a brilhant
academic record. he plaved key role to revamp the company's finance and management
procedures for which he was recognized by the management.

But now his performance has come down with mistakes found 1n most of his actions. Several
things transpired against him. His only son turned spastic and he was overlocked for
promotion against a new comer. This witneszed him becoming less popular among staff.
Adding to that. a mild flirtation with a female employvee was blown out of proportion.

Dinesh has became emotionally and professionally depressed with morale down and seemed
loosing self-confidence badly.

Sub questions



Question Number : 146 Question Id : 6154757356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

As HR Manager which life positions in Transactional Analysis would you expect Dinesh to

have?

Ly I'm Ok, You are Ok (2) TI'm Ok, You are not Ok
(3) I'm not Ok, You are Ok (4) I'm not Ok, You are not Ok
Options:

615475286581, 1
E1547528682. 2
E1547528683. 3
61547528684, 4

Question Number : 147 Question Id ;: 6154757357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which type of promotion policy would vou recommend to Softech Co.?

(a) Career ladder

(b) Merit Based

(c) Accretion of duties

(d) Competitive and non-competitive

Choose the correct option from the following

(1) (a) and (b)
(2) (b) and (c)
(3) (c) and (d)
(4) (a) and (c)

Options:

61547528685, 1
E1547528686. 2
E1547528887. 2
61547528688, 4

Question Number : 148 Question Id : 6154757358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As HR Manager, which counseling mode would you choose for Dinesh?

(1) Developmental mode (2) Disciplinary mode
(3) Open ended mode (4) Unbiased mode
Options:

E1547528689. 1
B15475286390. 2
615475286391, 3
E154752863%2. 4

Question Number : 149 Question Id : 6154757359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The HR Manager should impart which of the following skills to Dinesh?

(1) Technical skills
(2) Peoples skills
(3) Communication skills
(4) Negotiating skills
Options:
£1547528693. 1
£1547528694. 2

E1547528635. 3
E15475286396. 4

Question Number : 150 Question Id : 6154757360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which management approach should the HR Manager deploy for Dinesh here?
(1) HR Approach

(2) Contingency Approach

(3) Systems Approach

(4) Interactionalism Approach

Options:



BE15475286597. 1
615475286398, 2
615475286595, 3
E1547525700. 4

Question Id : 6154757355 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension
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Sub questions

Question Number : 146 Question Id : 6154757356 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TT AR TEEE F BT 7 o T F fou wegaEn faveme () #@ Fetaiaa § 9 wR-1 o ee Tiieee
1 e F e

(1) oI UH 3%, g AW AH| (2) T UH ATh, g AR TS ATH|
(3) AT UH i Ak, g AW ATH| (4) % U TAe 3F, T AR A AF|
Options:

615475286581, 1
E1547528682. 2
E1547528683. 3
61547528684, 4

Question Number : 147 Question Id ;: 6154757357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 148 Question Id : 6154757358 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Question Number : 149 Question Id : 6154757359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
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Question Number : 150 Question Id : 6154757360 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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